Table of Contents

INAEX e s 2
Technical INfO........ccoooieiee e 3
ENGINE DIeSS UP...civicieciecieeie ettt 6
MUSEANG Kit....oeeiiiecie e 7
BOW Tie ProduCtS........cccoceiieiieceece e 8
HOIlY ProdUCLS .......ocueeececeece e 11
Individual APPlICALIONS ........covereiriieeeeree e 8-12
(01112 8-9
0] (o RS OSN 10-12
1Yo = | SRR 11
BUICK. ....etie ettt e 11
VW e s 11
INterior SCrew KitS .......ccveovveereeeeeece e 13-14
CRBVY . s 13
0 ] (o 14
Bulk Fasteners (Chrome & Stainless) .........ccccccce....... 15-33
American Thread.........c.ccooveeiveiereeneeee e 15
METIIC....i et 31-33
ASSOIMENES / TraYS....coveeeeereerieeeere e 34-35
Product Display UNitS ..........ccooveiiiiiniiiiicieeceee 36
ElECHNCAl ..o 37
TOOIS .o s 38
LUG NULES . s 40
FIEEINGS. .o 42

? ? No minimum order
? ? After hours automated phone service for orders, catalog requests, and messages
? ?Free freight on orders over $75.00

Ordering:
Shipping:
Pricing:

Terms:
Returns:

Guarantee:

To place an order, call 1-800-521-9805; fax your order to 248-305-5110; access our
website @ www.gardner-westcott.com ; or mail your order to us.

We will pay the freight charges (not COD fees) within the continental United States on
orders of $75.00 or more. All orders are shipped via UPS. Add $6.00 for COD fee.
Prices are subject to change without notice.

Visa, Master Card, Amex, Discover, COD or Pre-payment.

Returns for credit require prior notification and a return goods authorization number
clearly marked on the outside of the box. No returns will be accepted after 30 days
from date of invoice.

If any part is found to be defective in workmanship or unsatisfactory in any way, we
will replace it or give credit where applicable.

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@qgardner-westcott.com




2

Alphabetical Index by Part

American Metric American Metric
Chr SS Chr SS Chr SS Chr SS
Bolts Washers
Body BOItS......ccoceiieieieee 20 GW Washers.......ccceveneennene 22
Bumper Bolts.........cccceveernene 27 External, Internal, Ctsk, AN...22 28
Carriage Bolts.........ccccvevveneee. 20 27 Finishing & Flush.................... 22
Hex Caps.....cccccvveveveieeiiniiens 17 27 31 33 Flatwashers & Lockwashers.22 28 32 33
Hex Head Sems.........c.ccceue. 20 High Collar Lockwasher......... 22 28
Spinlock BoIts .......ccccevvevienns 20 Neoprene & Nylon.................. 22
Step BOItS .....cceeeeveeeeee 20 Super Washers..........cccce.... 22
Wave Washers..........ccccen..... 33
Nuts
12 POINt NULS ...c.oovveverieiiesieene 24 Other Items
Acorn NULS .......ccoeeiiiiiiie 24 29 33 Assortments..........cccoceevieennne 34
Covers, PushOn.................... 24 Axle Kits, VW .......cooevveeeeeennnn. 11
Flange NUtS........ccccccevveiernene. 23 Bondhus Tools..........ccccueee.... 38
Flexlock NUts .........ccccceeiernenne 23 Carburetor Studs...........c...... 9 9
HeX NULS......coeieeeeeeeee 23 29 32 33 Chevy Bow Tie Product Line. 7
Jam HexX NUtS .........cccecveinenne 23 29 32 Cotter PinS .......coovvveverenene, 25
Jam Nylon Insert Locknuts ....23 29 32 Exhaust Manifold Studs......... 9
Left Hand Thread.................... 23 Electrical Terminals................ 37
Nylon Insert Locknuts............. 23 29 32 Fittings-Brass &Chrome......... 44
Slotted NUtS........ccccveeeeienee 23 29 Ford Hinge Pins...................... 14 14
Wing NULS.......cooviieereeee, 23 Hole Plugs.......cccoeevvnnnieenne. 25
Holley KitS .......ccoovivenirenne 11
Screws Hose Clamps......c.cccceeeveenene. 25
Allen SCrews .........ccocevevneenee. 16 26 31 33 Interior KitS.......cooovevvrieeveenene 13
Button Head Allen Screws.....17 26 31 33 License Plate Kit.................... 9
Button Head Torx Screws......18 Line Clamps......ccccceevvveveennene. 38
Flat Head Allen Screws ......... 18 26 31 33 LUg NULS ..o, 40
12 Point SCrews..........c.cceeeeeee 18 Muffler Clamps ........cccceeeeeeee 25
Ford Hinge Screws................. 14 Mustang Kit........ccooeveenerennnne. 7
Machine Screws.........c.ccoeee. 21 NULSEMS ... 39
Sheet Metal/Woodscrews......21 Pipe Plugs.....ccccovevvninnieeene 25
Set SCrews.......cccoveveeveeiennns 27 Product Display Units............. 36
SPACEIS...ccitiieriiee e 24
Threaded Rod, Stainless....... 25
Throttle Return Springs.......... 20 20
TrAYS .veeecieeeee e 35
Truck Bed Kits.......c.ccocevvvruenen 12
WIF€ .o 38
Zinc L-9 Bolts, Washers........ 30

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




Technical Information

|
10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110

Email: sales@gardner-westcott.com




4

How to Measure

Conversion / Reference Charts

Wrench Sizes Metric Conversion Chart Thread Pitches - Metric
Width Across Flat Inches Millimeters Diameter Pitch
for Hex Bolts
Wrench Size Bolt Diameter 2516 g g?nq 125
7/16 1/4 3/8 10 8m fine 1.0
1/2 5/16 1/2 12 10m 1.50
9/16 3/8 5/8 16 10m fine 1.25
5/8 716 3/4 20 12m 1.75
3/4 1/2 1’ 25 12m fine 1.50
13/16 9/16 1-3/16 30 14m 2.0
15/16 5/8 1-3/8 35 14m fine 1.50
1-1/8 3/4 1-9/16 40
1-3/4 45
2" 50
_ 2-3/16 55
Threads Per Inch American >3/8 60
Coarse Fine 2-.9/16 65
10/24 10/32 2-3/4 70
1/4-20 1/4-28 3’ 75
5/16-18 5/16-24 3-3/16 80
3/8-16 3/8-24 3-3/8 85
7/16-14 7/16-20 3-1/2 90
1/2-13 1/2-20 4" 100
9/16-12 9/16-18 4-3/8 110
5/8-11 5/8-18 4-3/4 120
3/4-10 3/4-16

|
2001© Copyright Gardner-Westcott Company

To place an order call us tall free at 1-800-521-9805

Or visit our website at www.gardner-westcott.com




Style Chart

Thread Identification

SAE 45 DEGREE FLARE

B THRLADS PR SO

T _r-'r;*rrr:- ¥y

1/83/16 1/45/16 3/8 7/16  1/2 5/8 3/4
A 516 3/87/16 1/25/8 11/16 3/4 7/8 1-1/16
B 24 24 20 20 18 16 16 14 14

T T
v -:TE‘ )

INVERTED FLARE

B-THREADS FLR INCH

1/8 3/16 1/45/16 7/16 _ 1/2 5/8 3/4
A 516 3/87/16 1/25/8 11/16 3/4 7/8 1-1/16

B 28 24 24 20 18 18 18 18 18-16

PIPE
HOTE TAPER
1/8 1/43/81/23/41
27 18 18 14 14 11-1/2

COMPRESSION

B THREADS FER INCH

1/8 3/16 1/45/16 3/8 7/16  1/2 5/8 3/4
A 516 3/87/16 1/29/16 5/8 11/16 13/16 1
B 24 24 24 24 24 24 20 18 18

DOUBLE COMPRESSION

- THREADS PER INCH

1/8 3/16 1/45/16 3/8 7/16  1/2
A 5/16 3/87/16 1/29/16 5/8 11/16
B 24 24 24 20 20 18 1

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




Engine Dress-up
&
Individual Application Sets

Inside This Section

Chevy. 7-13
Chevy.Bow Tie 8
Ford 7-14
Mopar 7-11
Mustang 7
Holley 11

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




Engine Dress Up Kits

Gardner-Westcott's dress up kits are available chrome plated, stainless steel, or stainless steel
polished. Bolt styles available include hex caps, allen screws, polished allen screws, button heads,
12 points, tapered top allens, and C hevy.Bow Tie stamped hex bolts.

Chevy. small and Big Block Contains:

Intake manifold, Valve Cover, Water Neck, Water Pump, Timing Cover, Fuel Pump,
Oil Pan, Distributor Hold Down and either heads or Standard Exhaust bolts.
Washers are supplied where applicable. Note: Small Block kit contains the Short
Water Pump and Big Block contains the Extended Water Pump. Please specify
aluminum covers.

Description Part #
Small Block Chevys with Headers ..........c.ovvviiiiiiiii e 56490
Small Block Chevy. with Standard Exhaust Bolts...............ccooeeiiiiiiinnnnnns 56492
Big Block Chevy . with Headers .............cooviiiiiiiiiiii e 56491
LT1 Chevy. Engine with Headers .............ccoovviiiiiiiiiii e 56495
Vortec 350 Chevy Small Block with Headers .............ccoooeeiiiiiiiiiiicnns 56494

Ford 289, 302 Only Contains:

Intake manifold, Valve Cover, Filler Neck, Fuel Pump, Timing Cover, Oil Pan,
Distributor Hold Down and either Headers or Standard Exhaust. Washers supplied
where applicable. Note: Water Pump Bolts are not included.

Description Part #
289, 302 Ford With HEadEerS .......cciviiii e 56250
289, 302 Ford with Standard Exhaust...............cooiiiiiiii 56251
390, 428 Ford with Headers ... 56253
429, 460 Ford With HEAdEIS ......uiviiiiiii e 56254
351 CleVEIANA ...oeieiiii s 56255

Mopar Small and Big Block Contains:

Intake Manifold, Valve Cover, Fuel Pump, Oil Pan, Water Pump, Timing Cover and
either Headers or Standard Exhaust Bolts. Washers supplied where applicable.

Description Part #
Small Block Mopar with Headers ..........cc.oeiiiii i 56330
Small Block Mopar with Standard Exhaust................ccoooiiiiiiiininennns 56331
Big Block Mopar with Headers ..........ccccovviiiiiiiiiii e 56332

Mustang Front End Kit Contains:

Ball Joints Upper and Lower, Lower "A" Arm to cross member, Lower Shock Bolts,
Brake Caliper Bracket Bolts, Tie Rod End Nuts, Strut Rod to Frame, Shaft to Frame.
NOTE: Rack Bolts Sold Separately

Description Part #
1974-1978 Mustang Front End Kit - Chrome Grade 8 Hex Caps.............. 56260
Rack Bolts 5/8 x 4" Grade 8 - Chrome Plated............c.cocoveviiiiiiiiinenen. 56261

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




8

Chevy. Bow Tie Products

Dress up your Chevy.!! Gardner-Westcott Company is now offering a new and

different look for engine dress-up bolts - the Chevy. Bow Tie emblem stamped

directly onto the head of the bolts. They are available in decorative polished

chrome-plated or stainless steel versions, in all the sizes needed to give your car that special look.
What better way to make a Chevy. statement than with these unique bolts? Gardner-Westcott
Company is exclusively licensed by GM to produce this product.

Select Style when ordering: H=Chrome Plated HSP= Stainless Steel

Chevy.Bow Tie Engine Dress Up Kits

Small and Big Block Contains:

Intake manifold, Valve Cover, Water Neck, Water Pump, Timing Cover, Fuel Pump,

Oil Pan, Distributor Hold Down and either heads or Standard Exhaust bolts. Washers
are supplied where applicable. Note: Small Block kit contains the Short Water Pump
and Big Block contains the Extended Water Pump. Please specify aluminum covers.

Description Part #

LT1 Chevy. Engine with Headers...........cccooviiiiiiiiiii e, 10-56495

Vortec 350 Small Block Chevy with Headers ..............c.coooiviiiiiiiiiiinees 10-56494

Small Block Chevy. with Headers............ccooiviiiiiiiii e 10-56490

Small Block Chevy -with Standard Exhaust Bolts..............cccccevviiiineiineennnee, 10-56492

Big Block Chevy . With HEAders ..........ccovieiiiiiiii e 10-56491

Chevy. Bow Tie Individual Applications

Description Part # Description Part #
Axle, Truck - 10 Bolt, 2 & 4 Wheel Drive........ 10-56458 License Plate Kit..........ccoooeviiiiiiiiiiiii, 10-56401
Axle, Truck - 12 Bolt, 2 & 4 Wheel Drive........ 10-56459 OilPan —LT-1 Engin€.........ccovveviiiiieennn, 10-56497
Bell HouSiNg.........ooovviiiiiiieice e 10-56484 Oil Pan - Small BlocK...........ccoceeviiiiiinennnnn, 10-56465
Coil Mount to BIOCK..........cccovviiiiiiiiieeans 10-56478 QOil Pan Cover - Big BlocK .............cccccvveennee. 10-56487
Exhaust Manifold.............cccooceeiiiiniiinnnnnn, 10-56477 Rear Cover - 10 Bolt........cc.coeveviiiiiieinnn, 10-56475
Fan Spacer Bolts - Extended....................... 10-56457 Rear Cover - 12 Bolt .........ccooveiviiieiieiieannns 10-56476
Fan Spacer Bolts - Short.............cccoeevevnnen, 10-56456 Timing Cover LT-1 Engine...........ccccoeevvneeee. 10-56400
Front Cover BOItS ........cooiviiiiiiieecean, 10-56464 Transmission Pan - Small Block .................. 10-56474
Fuel Pump, Small Block..............ccoeevviennnnn. 10-56460 Valve Cover. - Acorns & Studs .................... 1056462A
Head Bolt Washers ...........ccc.ccoeveviniiinnncnnn, 10-56473W Valve Cover Flange Bolts - Small Block........ 10-56412
Head Bolts — Outside, Small Block................ 10-56472 Valve Cover LT-1 Engine............cccoeevennannn. 10-56403
Head Bolts — Outside, Big Block................... 10-56493 Valve Cover Vortec 350 Engine................... 10-56701
Header Bolts— LT L Engine...........cceeevne. 10-56498 Valve Cover, Aluminum - Big Block.............. 10-56486
Headers Bolts —Vortec 350 Engine.............. 10-56702 Valve Cover, Aluminum - Small Block.......... 10-56466
Header Bolts - Big Block.............cccccvvvennnnn. 10-56488 Valve Cover, Steel - Big Block..................... 10-56485
Header Bolts - Small Block 1" Long.............. 10-56418 Valve Cover, Steel - Small Block.................. 10-56463
Header Bolts, Small Block........................... 10-56461 Water Neck 45 Degree - Small Block ........... 10-56471
Hood Hinge BOItS........cccovviviiiiii, 10-56481 Water Neck 90 Degree - Small Block ........... 10-56470
Hood Hinge Bolts - 1955 to 1957 ................. 10-56482 Water Pump LT-1 Engine........cc.occevveennnnnee. 10-56496
Hood Hinge Bushing Kits - GM Late Model ... 10-56419 Water Pump, Extended - Small Block........... 10-56467
Injection Mount LT-1 Engine...........c.c.cccuveee 10-56499 Water Pump, Short - Small Block................. 10-56468
Intake Manifold LT-1 Engine...........c...cc..u.e 10-56402

Intake Manifold Vortec 350 Engine............... 10-56700 Please specify Chrome or Stainless when ordering
Intake Manifold - Big Block.............c...cc...e.. 10-56479 H=Chrome Plated HSP=Stainless Steel

Intake Manifold - Small Block....................... 10-56469

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




Chevrolet Individual Applications

Please Use Style Chart When Ordering:

H = Hex Bolts, Chrome Plated HS = Hex Bolts, Stainless Steel
S = Allen Screws, Chrome Plated HSP = Hex Bolts, Stainless Steel Polished
P = Polished Allen Screws, Chrome Plated SS = Allen Screws, Stainless Steel
B = Button Allen Screws, Chrome Plated SSP = Allen Screws, Stainless Steel, Polished
N = 12 Point Screws, Chrome Plated SB = Button Allen Screws, Stainless Steel

SBP = Button Allens, Stainless Steel Polished
Description Part # Description Part #
Alternator Jam Nut, Chrome 15574 Injection Mount LT-1 Engine 56499
Axle, Truck - 10 Bolt, 2 & 4 Wheel Drive 56458 Intake Manifold — LT-1 Engine 56402
Axle, Truck - 12 Bolt, 2 & 4 Wheel Drive 56459 Intake Manifold — 350 Vortec Engine 56700
Bell Housing 56484 Intake Manifold - Big Block 56479
Carburetor Stud Kits, with 4 Studs, Washers, & Nuts Intake Manifold - Small Block 56469
1 3/8" overall length, stainless steel 4086 License Plate Screw Kit, Chrome Plated 56220
1 1/2" overall length, stainless steel 4087 Mag Wheel Washers, Chrome sold each 23578
2" overall length, stainless steel 4088 Mag Wheel Washers, Stainless sold each 75578
1 3/8" overall length, chrome plated 4083 Oil Pan — LT-1 Engine 56497
1 1/2" overall length, chrome plated 4084 Oil Pan - Small Block 56465
2" overall length, chrome plated 4085 QOil Pan Cover - Big Block 56487
Coil Mount to Block 56478 Rear Cover - 10Bolt 56475
Exhaust Manifold 56477 Rear Cover - 12 Bolt 56476
Exhaust Manifold Studs (Standard) in Stainless Steel Starter Bolts (3/8-16 x 1 7/8) Chrome 43340
3/8-16 x 2 1/4” sold each 88347 Starter Bolts (3/8-16 x 4 11/16) Chrome 43341
3/8-16 x 2 3/4” sold each 88349 Timing Cover LT-1 Engine 56400
3/8-16 x 3" sold each 88349 Transmission Pan - Small Block 56474
Fan Spacer Bolts — Extended 56457 Tune Port Injection System 56417
Fan Spacer Bolts — Short 56456 Valve Cover - Acorns & Studs 56462A
Front Cover Bolts 56464 Valve Cover — LT-1 Engine 56401
Fuel Pump, Small Block 56460 Valve Cover — 350 Vortec Engine 56702
Head Bolt Washers 56473W Valve Cover, Aluminum - Big Block 56486
Head Bolts — Outside, Small Block 56472 Valve Cover, Aluminum - Small Block 56466
Head Bolts — Outside, Big Block 564933 Valve Cover, Steel - Big Block 56485
Header Bolts LT-1 Engine 56498 Valve Cover, Steel - Small Block 56463
Header Bolts — 350 Vortec Engine 1" 56701 Water Neck 45 Degree - Small Block 56471
Header Bolts - Big Block 56488 Water Neck 90 Degree - Small Block 56470
Header Bolts - Small Block 1" Long 56418 Water Pump — LT-1 Engine 56496
Header Bolts, Small Block 56461 Water Pump, Extended - Small Block 56467
Hood Hinge Bolts 56481 Water Pump, Short - Small Block 56468
Hood Hinge Bolts - 1955 to 1957 56482
Hood Hinge Bushing Kits - GM Late Model 56419

|
10110 Six Mile Road, Northville, MI. 48167

Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




10
Ford Individual Applications

Please Use Style Chart When Ordering:

H = Hex Bolts, Chrome Plated HS = Hex Bolts, Stainless Steel

S = Allen Screws, Chrome Plated HSP = Hex Bolts, Stainless Steel Polished

P = Polished Allen Screws, Chrome Plated SS = Allen Screws, Stainless Steel

B = Button Allen Screws, Chrome Plated SSP = Allen Screws, Stainless Steel, Polished

N = 12 Point Screws, Chrome Plated SB = Button Allen Screws, Stainless Steel
SBP = Button Allens, Stainless Steel Polished

Description Part #

Alternator Jam Nut, Chrome Plated, sold @aCh...........cooiviiiiiiiiii e 15574

Bed Bolt Set - 1953 t0 1956 F-100 ......cucuiinitiiiniieit e e e e ens 56252

Exhaust Manifold - 289, 302 .......iiiiriiiii i 56248

FUEI PUMP = 289, 302 .ttt et e e e e e e e e et e e e n e e e e aanes 56240

FUEI PUMP = 35LC, 400 ... ittt ettt et e e e e e e e e e e n e e s e e s e e eeanees 56243

[ LT 10 [T = L0 L 56223

INTAKE MaANITOIA = 420 .ttt et eenen 56246

Intake Manifold - FE ENQINE ...t 56245

INTAKE MANITOIA 289 ... i et eenas 56221

Intake Manifold 351 CleVeland .........c.ouieiiiiiii e 56222

(@1 22=T s B4 <1 T ) 56231

Ol PAN = B51C, 400 ...uieiieiiiii e e et 56232

OBl PaN =390, 428.... .t 56233

Tie Rod Nuts - 11/16-18,Stainless Left Hand Thread, Sold Each.................c.ooevvienint. 67561-L

Tie Rod Nuts - 11/16-18,Stainless Right Hand Thread, Sold Each ............................ 67561-R

TIMING COVET = 289, B02 . .uuiiiiiieit ettt e e e e e e e e eas 56242

TIMING COVET = 390 ..ouiiiiiiii et e e e e e et et e e e e e e e e e eens 56244

Transmission Pan Cover - 7T00-R4 ... e 56236

TransmMISSION Pan COVEE = C-4 ...t aaaas 56235

TransSMISSION PaAn COVEE = C-B ..uuuniiiiiiii ettt e e e e aeaaaas 56234

Valve Cover, AIuminum - 289, 302 .....cuiuiriiii i 56227

Valve Cover, AIuMINUM, 351 C .. ... i aeaa 56228

ValVe COVEL, STEEI - 280 ..o 56224

Valve Cover, StEel - 351C, 400.. ... e 56225

Valve COVEL, STEEI - 428 ... et 56226

RV A= L (ST 1= 56230

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




11

Holley 4 Barrel Carburetor

Kits: Part #
Complete Carburetor Screw Kit (Contains 4 long & 4 short float bowl screws)..... 56701
Complete Carburetor Screw Kit (Contains 8 long float bowl screws)................... 56706
Float Bowl Screw Kit (Contains 4 short & 4 10Ng SCreWS).......ccvuvviieveeenieeniennnnnn 56700
Float Bowl Screw Kit (Contains 8 10Ng SCrEWS)..........uvvevieiriiieiieeiieeiieeeeieenn 56704
Dual Fuel Inlet Fitting (INCludes GaskKet)...........c.uvvieriieiriieiiiieeeeece e 56702
Single Fuel Inlet Fitting (Includes Gasket)............coovviiiiiiiiiiii e, 56703
Swivel Single Fuel Inlet Fitting (Includes Gasket)...........ccocvviiiiiiiiiiiiieieeen, 56705
Individual Replacements Part # Individual Replacements Part #
8/32 x 3/8 Fillister Phillips ........... 30000 Rectangular Nut........................ 30017
Sight Level Gasket .................... 30010 10/32 x 1/4 Panhead Phillips ...... 30004
Needle & Seat Scre................... 30007 Single Fuel Line Fitting............... 30015
8/32 x 5/8 Fillister Phillips ........... 30001 Short Float Bowl Screw (12/24 x 1 7/8) 30006
Small Gasket.........ccoovvvviiinnnnn. 30012 Single Fuel Line Gasket............. 30009
8/32 x 1” Fillister Phillips ............. 30002 Float Bowl Gasket..................... 30011
Large Gasket...........ccoveevnnennnnn. 30013 Dual Fuel Line Fitting................. 30016
8/32 x 1 % Fillister Phillips........... 30003 Sight Level Screw............cc...... 30008

Mopar Individual Application Sets

Description Part #

Intake Manifold - Small BIOCK .........ccuoiuiiiiiiiiiiiieeeee e 56302
Header Bolts - Small BIOCK .........oviiiiiiiii e 56303
Power Steering Rack & Pinion Conversion Kit with Braided Stainless

St NG e 6-080

Buick Individual Application Sets

Description Part #

Intake Manifold - V-6, 1977 10 1981 ......c.ceiiniiiiiei e 56420
Water Pump - V-6, 1977 t0 1981 ......coiiiiiieii e 56422
Crank Pulley - V-6, 1977 t0 1981.......cccciiiiiiiiiic e 56423
ValVe COVEE - VB ..o e 56424

V-W Individual Application Sets

Description Part #
Trans Axle Swing Axle Acorn Kit (metric thread).............c.ccoeveennnnen. 56800-A
Trans Axle IRS Axle Acorn Kit (metric thread)...........ccocevveiiiennnnn. 56801-A

|
10110 Six Mile Road, Northville, MI. 48167

Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




12
Ford Truck Bed Kits

Please Use Style Chart When Ordering:

A = Acorn Nuts BAN = Button Allens & Acorn Nuts
B = Button Allen Screws BHN = Button Allens & Hex Nuts
C = Chrome Plated CAN = Chrome Plated Acorn Nuts
H = Hex Cap Screws HAN = Hex Cap Screws & Acorn Nuts
S = Stainless Steel HHN = Hex Cap Screws & Hex Nuts
SP = Stainless Steel Polished HSP = Hex Cap Screws Stainless Polished
ANS = Acorn Nuts Stainless Steel CHN = Chrome Plated Hex Nuts
ANSP = Acorn Nuts Stainless Polished HNSP= Hex Nuts Stainless Polished
1953-56 Ford Truck Kits

Description Part #

Ford Front Fender ASSEMDIY.........ovu i J600

Ford Rear Fenders (BOth).........ocueivuiiieie e e J6e01

Ford Front FENAEr BraCe.......c.uveeiiiiiieee e ees J602

Ford Tailgate Lights & License Plate............cccovvieiiiiiiiiin e J603

Ford Bed Strip & ANGIES ....oovniii e J604

Ford Running Boards (BOth)............ooouriiiiiiii e J605

Ford Truck Hood Hinge ASSEMDIY.........couiiiiiiiiiince e J606

Ford Truck HOOd LatCh.........ccooiiiiiii e J607

Ford TruCk HOOO BraCe........cuvuiiiiii i J608

Ford Truck FireWall..........ccouiiiiiiii e J609

Ford Radiator SUPPOIT ... .. coueiie e e J610

Ford Door Jam Kit (BOth).......c.uiiiiiicii e J611

Ford Door HINge (BOth) .....ccveiieicc e J612

Ford Rear Bumper Bracket (BOth)..........ccovviiiiiiiiiiiiiiieeee e J613

Ford Front Bumper Bracket (Both) ..........cc.viiiiiiiiiiiii e J614

Ford Truck Cowl Vent Kit..........ooeuiiiiiiiiie e J615

FOrd TruCK INTEIION ... e J616

Ford Bed Strip & ANGIE........uniiii e J617

1948-1952 Ford Truck Kits

Description Part #

Ford Door HINGE LatCh.......c.oiuiiiiie e J620

Ford INNEr DOON PANEL..........iiuiiii e J621

Ford Truck INterior Kit...........oeuniii e J622

Ford Body MOUNE Kit.......oiii e J623

o (o I o o T N ) S J624

Radiator Core SUPPOIt BraCesS .......ovuuiiuiiiei et e e e J625

FOrd TranSmiSSION COVEN.......c.uuiieiiieiieee e e e e e e e e e e r e e e anaeees J626

Ford Steering COIUMN ......ciii e J627

Ford RUNNING BOAIAS .......ccouuiiiiiiii e J628

Ford Rear Fender Kit..... ..o J629

Ford Front Fender Kit...........ooiiii e J630

Ford Front BUMpPer Kit. ..o e e e e e J631

FOrd TruCK Rear BUMPET ... ... e e e e e as J632

Ford Front Fender ASSEMDIY.........oouiiiiii e J633

FOrd Bed Strip Kit.. ..o J634

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




13

Interior Screw Kits - GM & Mopar

Kits include sheet metal screws and/or machine screws. Washers are supplied where
applicable.

Chevy.

Description Part #

1937 - 1941 Chevye 4 DOOK .....ccvuueeiieiiiieeee e eeea e 57900 C S SP
1937 - 1941 Chevyes COUPE «.cuuiiiieiiiieiiiieeei e e e e 57901 C S SP
1937 - 1941 Chevy.2 Door Sedan ..........ccocovvvvviviiieininnnnnnn. 57902 C S SP
1956 - 1957 Chevy. 2 Door Sedan ...........ccocevvviiieininnnnnnn, 57939 C S SP
Oldsmobile

Description Part #

1947 Oldsmobile 4 Door, 78 SEri€sS ........ccocovvvviiviiieieeiennnn, 57501 C S SP
Buick

Description Part #

1940 Buick Limited 4 Door With Side Mounts..................... 57400 C S SP
Plymouth

Description Part #

1941 Plymouth 4 DOOK......cviiiiiiiiei e ee e e 57605 C S SP
1946 Plymouth 2 DOOr Sedan ..........coccevvveerniieiiiiiineenieens 57602 C S SP
Dodge

Description Part #

1933 Dodge Coupe with Rumble Seat ................ccceveennns 57500 C S SP
1939 Dodge 2 DoOor Sedan .........cccovvvviiiiiiiiiiiieieieeeeee 57603 C S SP
1939 Dodge 2 DOOr COUPE ...uvvviveiiiiieiiiiieieieeeeieeeeaneaee 57604 C S SP
Latch Striker Dovetail Kit - Chevy (2 doors)...........c.ceeeenee. 57001 C S SP
Latch Striker Dovetail Kits - Chevy thru 1958..................... 55904

Door Screws

Description Part #

Latch and Dovetail - 1/4-20 x 1/2 #12 Stainless Steel ........ ..... 89206-12

- same as above - Chrome Plated ...........ccocooiiiiiiiiiiieen e, 40206-12

Striker Mounting Screws - 1/4-20 x 1 #10 Hd Stainless...... ..... 94214-10

- same as above - Chrome Plated ...........cc.cooviiiiiiiiiinens e, 39214-10

Hinge Screws

Description Part #

5/16-24 x 3/4 Hex Head 9/16 across the flats-- Stainless ............ 88275

5/16-24 x 1 Flat Phillips Hinge Screw - Stainless........................ 94281

5/16-24 x 1 Flat Phillips Hinge Screw - Chrome Plated ............... 39281

5/16-24 x 1 Oval Phillips Hinge Screw - Stainless....................... 89281

5/16-24 x 1 Oval Phillips Hinge Screw - Chrome Plated .............. 40281

5/16 External Countersunk Washers - Stainless......................... 89570

5/16 External Countersunk Washers - Chrome Plated ................ 35570

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




14

Interior Screw Kits - Ford

Kits include sheet metal screws and/or machine screws. Washers are supplied where applicable.

Screw Kits - Stainless Steel Only

Description Part #
1928 - 1929, FOrd COUPE ..vueeineeeiieeieeeie e e e e e e e e eeens J-286
1928 - 1929, FOId 2 DOOK . .c.uviiieieeee et eeaa e J-287
1930 - 1931, FOrd COUPE ...vueeeneeeiieeiie e et e e e e e e eens J-308
1930 - 1931, FOId 2 DOOK ...ccuiviiiiieiee e e e J-309
1932, FOrd Phaeton .....c.oviiiiiiii e J-321
1932, Ford Coupe 3 WIiNAOW .....ccuiiiiiiiiiiiieiiieeeene e eee e J-322
1932, Ford Coupe 5 WINAOW .......cceviiiiiiiiiii e J-323
1932, FOrd CoupPe 2 DOOK ....uvvieiiieiiee ettt e e J-324
1933 - 1934, Ford ROAASIEr......cueivieiii e J-330
1933 - 1934, FOIrd COUPE ..ovniiieiiieiiiei et et e e e J-332
1935-1936, FOIrd COUPE ..ovnivineiiieiiiei et et e e e J-352
1936, FOIrd 2 DOOK ... e J-353
1937, FOId COUPE....uieeieiiiei et et e e e J-371
1937, FOIrd 2 DOOK ....e e J-372
1938 - 1939, FOrd COUPE ..ovnieiiiieiiie et J-380
1938 - 1939, FOId 2 DOOK . ..uiviiiiiiieieeee e J-381
1938 - 1939, Ford Convertible .......cccoeviiiiiiiii J-383
1940, FOrd COUPE....cuiiii ittt e e e e J-400
1940, FOId 2 DOOK ....ueieieiieeeee et J-401
1941, FOrd COUPE....uiieiii ittt et et e e e J-410
1941, FOIrd 2 DOOK....u et J-411
1941, Ford Convertible.......cc.ooviuiiii i J-413
1942 - 1948, Ford 2 Door & Ford COoUpPe .........ovvvvveniiiiiiiieieeinns J-420
1942 - 1948, Ford Convertible ..o J-422
Hinge Screws - Ford

Description Part #
1928 - 1934 5/16-24 X 1, Chrome Plated, Sold Each................... 59281
1928 - 1934 5/16-24 X 3, Chrome Plated, Sold Each................... 59299
5/16 Recessed Washers, Chrome Plated .............cocooviiiiiniennnen. 23549
Hinge Pins Chrome Plated - Ford

Description Part #
1928 - 1931 ClOSEA CaAr...ceuivieiieiiiii et ae s 59028
1931 Slant Windshield .........c.oviiiiiiiiee e 59029
1928- 1931 Roadster/Phaeton........c..oeveviiiiiiiiiiiiiieeeeeeeeeaes 59030
1932 - 1948 V-8 e 59031
Hinge Pins Stainless Steel Polished - Ford

Description Part #
MOEI A oo e 59032
1932 thru 1948 ... e e 59033
10/32 X 1/2 SCrEW = NO SIOt.....vieieiiieiiie e 59034
5/16 - 24 Cage NULS ...ivniiiiiii e 59035
Assortments

Description Part #
Interior & Door Screws, Stainless Steel.......ccoovvvviiiiiiiiiniiienns 56900
Interior & Door Screws, Polished Stainless..........c.coovvviviiinnn. 56901
Interior & Door Screws, Chrome Plated............cooovvviiiiiiniiinnnns 56902

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




15

Bulk Fasteners

Inside This Section

American Thread Chrome 16-25
American Thread Stainless 26-29
L-9 Products (Zinc) 30
Metric Thread Chrome 31-32
Metric Thread Stainless 33

|
10110 Six Mile Road, Northville, MI. 48167

Phone: 248-305-5100 Fax: 248-305-5110

Email: sales@gardner-westcott.com




16

|
American Thread Bulk Fasteners - Chrome Plated

Allen Screws, Chrome Plated vome

4/40 6/32 8/32 10/24 1/4 1/4 5/16  5/16 3/8 3/8 7116 7/16 1/2 1/2 5/8 5/8
-20 -28 -18 -24 - 16 -24 -14 -20 -13 | -2 -1 -18

1/2 112089 | 12106 | 12130 | 12154 | 12155 | 12206 | 12207 | 12270 | 12271 | 12322 | 12323
5/8 | 12090 | 12108 | 12132 | 12156 | 12157 | 12208 | 12209 | 12272 | 12273 | 12324 | 12325
3/4 |12091 | 12110 | 12134 | 12158 | 12159 | 12210 | 12212 | 12274 | 12275 | 12326 | 12327 | 12374 | 12375 | 12414
718 12112 | 12136 | 12160 | 12161 | 12212 | 12213 | 12278 | 12279 | 12328 | 12329
1 12114 | 12138 | 12162 | 12163 | 12214 | 12215 | 12280 | 12281 | 12330 | 12331 | 12376 | 12377 | 12416 | 12417 | 12488 | 12489
11/4 12140 | 12166 | 12167 | 12218 | 12219 | 12284 | 12285 | 12334 | 12335 | 12378 | 12379 | 12418 | 12419 | 12490 | 12491
11/2 12142 | 12168 | 12169 | 12220 | 12221 | 12286 | 12287 | 12336 | 12337 | 12380 | 12381 | 12420 | 12421 | 12492 | 12493
13/4 12170 | 12171 | 12222 | 12223 | 12288 | 12289 | 12338 | 12339 | 12382 | 12383 | 12422 | 12423 | 12494 | 12495
2 12172 | 12173 | 12224 | 12225 | 12290 | 12291 | 12340 | 12341 | 12384 | 12385 | 12424 | 12425 | 12496 | 12497
21/4 12174 | 12175 | 12226 | 12227 | 12292 | 12293 | 12342 | 12343 | 12386 | 12387 | 12426 | 12427 | 12498 | 12499
212 12176 12228 | 12229 | 12294 | 12295 | 12344 | 12345 | 12388 | 12389 | 12428 | 12429 | 12500 | 12501
2 3/4 12230 | 12231 | 12296 | 12297 | 12346 | 12347 | 12390 | 12391 | 12430 | 12431 | 12502 | 12503
3 12232 | 12233 | 12298 | 12299 | 12348 | 12349 | 12392 | 12393 | 12432 | 12433 | 12504 | 12505
31/4 12234 | 12235 | 12300 | 12301 | 12350 | 12351 | 12394 | 12395 | 12434 | 12435 | 12506 | 12507
312 12236 | 12237 | 12302 | 12303 | 12352 | 12353 | 12396 | 12397 | 12436 | 12437 | 12508 | 12509
4 12240 | 12241 | 12306 | 12307 | 12356 | 12357 | 12400 12440 | 12441 | 12512 | 12513
41/2 12310 | 12311 | 12360 | 12361 | 12404 12442 | 12443 | 12514 | 12515
5 12246 12312 | 12313 | 12362 | 12363 | 12406 12444 | 12445 | 12516 | 12517
512 12316 | 12317 | 12366 | 12367 | 12410 12446 | 12447 | 12518 | 12519
6 12319 | 12368 12412 12448 12520 | 12521
Polished Allen Screws, Chrome Plated Polished Allen
4/40 6/32 8/32 10/24 |10/32 1/4 1/4 5/16 5/16 3/8 3/8 1/2 5/8 5/8
-20 -28 -18 -24 -16 -24 -20 -11 -18
3/8 10288| 10104 | 10128 10152| 10153| 10204| 10205| 10268
1/2 10089| 10106| 10130| 10154 10155| 10206| 10207| 10270( 10271| 10322| 10323
5/8 10090| 10108| 10132| 10156( 10157| 10208]| 10209| 10272 10273| 10324| 10325
3/4 10091| 10110| 10134| 10158| 10159| 10210| 10211| 10274 10275| 10326| 10327| 10374| 10375 10414
7/8 10112 10136| 10160| 10161| 10212| 10213| 10278| 10279( 10328 10329
1 10114 10138| 10162| 10163| 10214| 10215| 10280| 10281 10330| 10331| 10376| 10377| 10416| 10417| 10488 10489
11/4 10140| 10166| 10167 10218| 10219| 10284| 10285| 10334| 10335| 10378| 10379| 10418| 10419( 10490| 10491
11/2 10142| 10168| 10169| 10220| 10221| 10286| 10287 | 10336 10337| 10380| 10381| 10420( 10421| 10492| 10493
13/4 10170 10171| 10222| 10223| 10288 10289| 10338| 10339 10382| 10383| 10422| 10423( 10494| 10495
2 10172 10173| 10224| 10225| 10290| 10291 10340| 10341| 10384 | 10385| 10424 10425| 10496| 10497
21/4 10174 10175| 10226| 10227( 10292 10293| 10342| 10343| 10386| 10387| 10426| 10427 10498| 10499
212 10176 10228| 10229| 10294| 10295( 10344| 10345| 10388| 10389( 10428| 10429| 10500 10501
2 3/4 10230| 10231| 10296| 10297 | 10346| 10347| 10390| 10391( 10430| 10431| 10502| 10503
3 10232| 10233| 10298| 10299 10348| 10349| 10392| 10393( 10432| 10433| 10504 10505
314 10234| 10235| 10300| 10301 ( 10350/ 10351| 10394| 10395( 10434| 10435| 10506 10507
312 10236| 10237| 10302 10303| 10352| 10353| 10396| 10397 10436| 10437| 10508 10509
4 10240| 10241] 10306| 10307 10356| 10357| 10400 10440 10441| 10512| 10513
41/2 10310/ 10311| 10360| 10361| 10404 10442 10443| 10514| 10515
5 10246 10312| 10313| 10362| 10363| 10406 10444 10445| 10516| 10517
512 10316| 10317| 10366| 10367| 10410 10446 10447| 10518| 10519
6 10319 10368 10412 10448 10520| 10521

Angled Allen Screws, Chrome Plated m

For Angle Allen Screws, replace "10" with "15" in the part number. Example: 10214 becomes 15214.
Angled Allen screws are precision machined, tapered on top and polished, then chrome plated. Angled Allen

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




17

Hex Caps, Chrome Plated

Hex Cap

3/8 3/8 1/2 1/2 5/8 5/8
-16 -13 -2 -11 -18
1/2 11206 | 11207 11250 11270 11271 11322 11323
5/8 11208 | 11209 11272 11273 11324 11325
3/4 11210 11211 11251 11274 11275 11326 11327 11374 11375 11414 11527
718 11212 | 11213 11252 11278 11279 11328 11329
1 11214 | 11215 11256 11280 11281 11330 11331 11376 11377 11416 11417 11488 11489
11/4 11218 11219 special 11284 11285 11334 11335 11378 11379 11418 11419 11490 11491
112 11220 | 11221 harley 11286 11287 11336 11337 11380 11381 11420 11421 11492 11493
13/4 11222 | 11223 thread 11288 11289 11338 11339 11382 11383 11422 11423 11494 11495
2 11224 | 11225 11290 11291 11340 11341 11384 11385 11424 11425 11496 11497
21/4 11226 | 11227 11292 11293 11342 11343 11386 11387 11426 11427 11498 11499
212 | 11228 | 11229 11294 | 11295 | 11344 | 11345 | 11388 | 11389 | 11428 | 11429 | 11500 11501
2 3/4 11230 | 11231 11296 11297 11346 11347 11390 11391 11430 11431 11502 11503
3 11232 | 11233 11208 | 11299 | 11348 | 11349 | 11392 | 11393 | 11432 | 11433 | 11504 11505
314 11234 | 11235 11300 11301 11350 11351 11394 11395 11434 11435 11506 11507
312 11236 | 11237 11302 11303 11352 11353 11396 11397 11436 11437 11508 11509
4 11240 | 11241 11306 11307 11356 11357 11400 11401 11440 11441 11512 11513
41/2 11244 11310 11311 11360 11361 11404 11405 11442 11443 11514 11515
5 11246 11312 11313 11362 11363 11406 11407 11444 11445 11516 11517
512 11316 11317 11366 11367 11410 11411 11446 11447 11518 11519
6 11318 11319 11368 11369 11412 11448 11449 11520 11521
Button Head Allen Screws, Chrome Plated Bution Allen
10/24 12/24 1/4 1/4 5/16 5/16 3/8 3/8 7/16 7/16 1/2 1/2 5/8

4/40‘ 6/32 8/32

-20

- 28

- 18

-24

- 16

-24

- 14

-2

- 13

-20

- 11

3/8 |13088|13104 | 13128 | 13152 | 13153 13204 | 13205 | 13268 | 13269

1/2 [13089|13106 | 13130 | 13154 | 13155 [13186 | 13206 | 13207 | 13270 [13271]13322 13323

5/8 1309013108 | 13132 | 13156 | 13157 13208 | 13209 | 13272 |13273|13324

3/4 113091]13110| 13134 | 13158 | 13159 13210 | 13211 | 13274 |13275] 13326 | 13327 13414

7/8 13136 | 13160 | 13161 13212 | 13213 | 13278 |13279]13328

1 13114 13138 | 13162 | 13163 |13194 | 13214 | 13215 | 13280 | 1328113330 | 13331 |13376| 13377 | 13416 | 13417 |13488
11/4 13140 | 13166 | 13167 13218 | 13219 | 13284 |13285]13334 | 13335 (13378 | 13379 | 13418 | 13419 | 13490
112 13168 | 13169 13220 | 13221 | 13286 | 1328713336 | 13337 (13380 | 13381 | 13420 [ 13421 | 13492
13/4 13222 13288 | 1328913338 | 13339 |13382 | 13383 | 13422

2 13224 13290 13340 | 13341 13424 | 13425 | 13496
214 13226 13342 | 13343

212 13228 13294 13344 | 13345 13428 | 13429 | 13500
234 13296 13346

3 13232 13298 13348 13433 | 13504
312 13236

4 13240 13400

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




18

Button Head Torx Screws, Chrome Plated

83z  10/24 10/32 4 | 14 5/16 5116 | 3/8

| 12

EE

-20 | -28 -18 -24 | -16

1/4 46126| 46150 | 46151

| 13

| -1

3/8 46128| 46152 | 46153 | 46204 | 46205

1/2 46130| 46154 | 46155 | 46206 | 46207 | 46270 | 46271 | 46322

5/8 46132 46156 | 46157 | 46208 | 46209 | 46272 | 46273 | 46324

3/4 46134| 46158 | 46159 | 46210 | 46211 | 46274 | 46275 | 46326

1 46162 | 46163 | 46214 46280 | 46281 | 46330 | 46416 | 46488
11/4 46334 | 46418 | 46490
112 46220 46492
2 46224

Flat Head Allen Screws, Chrome Plated

6/32 8/32 |10/24 10/32 ‘12/24 /4 ‘1/4 516 5/16 |3/8 318 | 7116 12 112
-20 |-28 -18 -24 -16 -24 -1 -13 -0

1/4 14102
378 | 14104 | 14128 | 14152 | 14153 14204 | 14205
12 | 14106 | 14130 | 14154 | 14155 14206 | 14207 | 14270 | 14271 | 14322
5/8 | 14108 | 14132 | 14156 | 14157 | 14186 | 14208 | 14200 | 14272 | 14273 | 14324 | 14325
34 | 14110 | 14134 | 14158 | 14159 14210 | 14211 | 14274 | 14275 | 14326 | 14327 | 14374 | 14414 | 14527
778 14136 14212 | 14213 | 14278 | 14279 | 14328
1 | 14114 | 14138 | 14162 | 14163 | 14194 | 14214 | 14215 | 14280 | 14281 | 14330 | 14331 | 14376 | 14416 | 14417
114 14166 | 14167 14218 | 14219 | 14284 | 14285 | 14334 | 14335 | 14378 | 14418 | 14419
112 14142 | 14168 | 14169 14220 | 14221 | 14286 | 14287 | 14336 | 14337 | 14380 | 14420 | 14421
134 14170 14222 14288 14338 14382 | 14422 | 14423
2 14224 14290 14340 14384 | 14424 | 14425
214 14292 14342 14386 | 14426
2172 14228 14294 14344 14388 | 14228
3 14232 14348 14392 | 14432

12 Point Screws, Chrome Plated
1/4 1/4 5/16 5/16 3/8 3/8 7/16 7/16

-20 -28 | -18 24 | -16 -24 | -14 -20

1/2 29206 | 29207 (29270 | 29271 [ 29322 | 29323

5/8 [29208 [29209 | 29272 | 29273

3/4 29210 [ 29211 | 29274 | 29275 | 29326 | 29327 | 29374 29414

7/8 [29212 [ 29213

1 29214 129215 | 29280 | 29281 | 29330 | 29331 | 29376 29377 [ 29416 | 29417

29488 | 29489

11/4129218 | 29219 [ 29284 | 29285 [ 29334 [ 29335 | 29378 | 29379 | 29418 | 29419

29490 | 29491

11/2] 29220 | 29221 [ 29286 | 29287 [ 29336 [ 29337 | 29380 | 29381 | 29420 | 29421

29492 | 29493

13/4]|29222 | 29223 [ 29288 | 29289 [ 29338 [ 29339 | 29382 | 29383 | 29422 | 29423

29494 | 29495

2 29224 129225 | 29290 | 29291 | 29340 | 29341 | 29384 | 29385 (29424 | 29425

29496 (29497

2 1A [29226 [ 29227 | 29292 | 29293 | 29342 | 29343 | 29386 | 29387 | 29426 | 29427

29498

2 1/2[29228 [ 29229 | 29294 | 29295 | 29344 | 29345 | 29388 | 29389 | 29428 | 29429

29500 | 29501

2 3/4[29230 [ 29231 [ 29296 | 29297 | 29346 | 29347 | 29390 | 29391 | 29430 29502
3 29232 | 29233 | 29298 | 29299 | 29348 | 29349 | 29392 | 29393 | 29432 | 29433 | 29504

314 29300 | 29301 | 29350 | 29351 | 29394 29434

312 29302 | 29303 | 29352 | 29353 | 29396 | 29397 | 29436 | 29437 [ 29508 | 29509
4 29356 | 29357 | 29400 29440 29512

412 29360 29442 29514

5 29362 29444 29516

Torx Button

FldlL nedu Anerl

12 Point

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




1/4
-28

5/16
-18

5/16
-24

3/8
)

3/8
-24

7/16
-14

7/16
-20

1/2
-13

12
-20

EE

19

(Stainless Steel Available)

5/8
-18

1/2 10-11206

10-11207

10-11270

10-11271

10-11322

10-11323

1

5/8 10-11208

10-11209

10-11272

10-11273

10-11324

10-11325

3/4 10-11210

10-11211

10-11274

10-11275

10-11326

10-11327

10-11374

7/8 10-11212

10-11213

10-11278

10-11279

10-11328

10-11329

1 10-11214

10-11215

10-11280

10-11281

10-11330

10-11331

10-11376

10-11377

10-11416

10-11417

10-11488

10-11489

11/4 |10-11218

10-11219

10-11284

10-11285

10-11334

10-11335

10-11378

10-11379

10-11418

10-11419

10-11490

10-11491

1172 |10-11220

10-11221

10-11286

10-11287

10-11336

10-11337

10-11380

10-11381

10-11420

10-11421

10-11492

10-11493

13/4 |10-11222

10-11223

10-11288

10-11289

10-11338

10-11339

10-11382

10-11383

10-11422

10-11423

10-11494

10-11495

2 10-11224

10-11225

10-11290

10-11291

10-11340

10-11341

10-11384

10-11385

10-11424

10-11425

10-11496

10-11497

214 |[10-11226

10-11227

10-11292

10-11293

10-11342

10-11343

4-11386

10-11387

10-11426

10-11427

10-11498

10-11499

212 |(10-11228

10-11229

10-11294

10-11295

10-11344

10-11345

10-11388

10-11389

10-11428

10-11429

10-11500

10-11501

23/4 (10-11230

10-11231

10-11296

10-11297

10-11346

10-11347

10-11390

10-11391

10-11430

10-11431

10-11502

10-11503

3 10-11232

10-11233

10-11298

10-11299

10-11348

10-11349

10-11392

10-11393

10-11432

10-11433

10-11504

10-11505

314 (10-11234

10-11235

10-11300

10-11301

10-11350

10-11351

10-11394

10-11395

10-11434

10-11435

10-11506

10-11507

312 [10-11236

10-11237

10-11302

10-11303

10-11352

10-11353

10-11396

10-11397

10-11436

10-11437

10-11508

10-11509

4 10-11240

10-11241

10-11306

10-11307

10-11356

10-11357

10-11400

10-11401

10-11440

10-11441

10-11512

10-11513

41/2

10-11310

10-11311

10-11360

10-11361

10-11404

10-11442

10-11443

10-11514

10-11515

5 10-11246

10-11312

10-11313

10-11362

10-11363

10-11406

10-11444

10-11445

10-11516

10-11517

512

10-11316

10-11317

10-11366

10-11367

10-11410

10-11446

10-11447

10-11518

10-11519

10-11083

10-11318

10-11319

10-11368

10-11369

10-11412

10-11448)10-11449

10-11520

10-11521

Bow Tie Body Bolts

Chrome Plated

Size | Part#

1/4x 3/4 - 3/8 Hex 10-55669-P3
1/4 x 3/4 —7/16 Hex 10-55669-P7
5/16 x 13/16 10-22276
5/16 X 1 Y4 10-22284
Body Bolts In StainlessOnly |

5/16 x 13/16 10-88276

Bow Tie Hex Washer Sems
Polished & Chrome Plated
With washer loose from head

Size | Part#

1/4-20 x 7/8 3/4 Washer OD 10-25212
5/16-18x 1 1" Washer OD 10-25280
3/8-16 x 3/4 1" Washer OD 10-25326
3/8-16x 1 1" Washer OD 10-25330
3/8-16x11/2 | 1" Washer OD 10-25336

Bow Tie Spinloc Bolts
Chrome Plated

777X 2? Yssssssds

10110 Six Mile Road, Northville, MI. 48167

Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




20

Carriage Bolts Spinloc Bolts-
Chrome Plated Chrome Plated
(Coarse Thread Only) Size Part #
12 | 27154 | 27206 S e 5/16-18 x 3/4 43274
3/4 27210 | 27274 | 27326 gﬁgzig § 1 T4 igggg
17 | 27162 | 27214 | 27280 | 27330 | 27376 | 27416 11624 % 1 13281
1% | 27168 | 27220 | 27286 | 27336 | 27380 | 27420 3816 x 1 23330 -
1% 27222 27382 | 27422
2 27224 | 27290 | 27340 | 27384 | 27424
2V, 27226 | 27292
2% 27228 | 27294 | 27334 | 27388 | 27428
2% 27296
3 27232 | 27298 | 27348 | 27392 | 27432
3 27236 | 27302 | 27352 | 27396 | 27436
g 27240 | 27306 | 27356 | 27400 | 27440
4% 27310 | 27360 | 27404 | 27442 Step Bolts
5 27246 | 27312 | 27362 | 27406 | 27444 Chrome Plated
= e
6 27368 27448
1/ | 28220
14 x 2 28224
5/16 x 1 28280
5/16 x 1 1/2 | 28286
BOdy Bolts 5/16 x 2 1/2_| 28294
Chrome Plated 3/8x 1 28330
: 3/8x11/2 | 28336
14 x 3/4-3/8 Hex 55669-3
T4 x 3/4-7/16 Hex 55669-7
14 x 3/4-3/8 Hex W/ Loose Washer 55669-W3
14 x 3/4-7/16 Hex W/ Loose Washer 55669-W7

Body Bolts With Polished Heads

14 x 3/4-3/8 Hex 55669-P3 H
14 x 3/4-7/16 Hex 55669-P7 ThrOttIe Return Sprlngs
5/16 x 13/16 22276 Description Part#
5/16 x 1 1/4 22284 Chrome Plated, Inner & 09012
Gold Plated, Inner & outer 09015
Body Bolts In Stainless Onl Chrome Plated, Gold Inner 09013
5/16 x 13/16 88276 Gold Inner, Chrome Outer 09014
Blue 09012-Blue
Black 09012-
Red 09012-Red

Hex Washer Sems

Polished & Chrome Plated

(With washer loose from head)

1/4-20x 7/8 3/4 Washer OD 25212
5/16-18 x 1 1" Washer OD 25280
3/8-16 x 3/4 1" Washer OD 25326
3/8-16 x 1 1" Washer OD 25330
3/8-16 x11/2 | 11/8" Washer OD 25336

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




21

Machine and Sheet Metal Screws, Chrome & Stainless Steel
e S A . - el
Y » w % % w &
Flat Foured Crval Pan Truss Fillister Heax

Chart #1: Select Style

Chrome Chrome SS SS
Slotted Phillips  Slotted Phillips PRI s

38 99 95
Flat Head 36 39 98 94 @Gmw
Truss Head 51 53 93 80
Oval Head 34 40 /57 | 97 39 Shest Mefe! Screw
Pan Head 35 41 96 92 &hﬁﬂm‘:’tﬂf&
Fillister 37 n/a 78 n/a
Hex 55 n/a 77 n/a ) _M_i:u:-:':crew
Round Wood 33 n/a 83 n/a -
Flat Wood a7 49 85 n/a
Oval Wood 48 50 84 81

**Note: Oval Phillips Sheet Metal Screws Use Prefix 57 not 40
Chart #2: Machine Screw Sizes, Chrome or Stainless Steel

10/32 | 12/24 1/4 1/4 5/16 = 5/16 @ 3/8

-18 -24 -16

3/8 104 128 152 153 184 204

1/2 106 130 154 155 186 206 270

5/8 132 156 157 188 208 | 209

3/4 110 134 158 159 190 210 | 211 | 274 275

7/8 136 160 161 192 212

1 114 138 162 163 194 214 | 215 | 280 281 330

114 116 140 166 167 196 218 | 219 | 284 285 334
112 118 142 168 169 198 220 | 221 | 286 287 336
13/4 170 171 222 288 289 338
2 122 172 173 224 290 340

Chart #3: Wood & Sheet Metal Screw Sizes
Chrome or Stainless Steel

Metric Machine Screws,

CH6 | #8 | #10 | #12 | #14
12 616 | 628 | 641 | 654 | 667 m3  m4 ‘mS m6  m8
5/8 617 | 620 | 642 | 655 | 668
e
1 620 | 632 | 645 | 658 | 671
= e
112 622 | 634 | 647 | 660 | 673
13 623 | 680 | 648 | 661 674 20m | 706 | 715 | 726 | 739 | 773
> e e B R %m | 707 | 716 | 727 | 740 | 774
T 7 om | 708 | 717 | 728 | 741 | 775
. T Bm 742 | 776
Z0m 743 | 777

Example: To order a 8/32 x 5/8 Oval Phillips Machine Screw: Use Chart #1 for head style part number which would be
“40". Look up diameter and length from chart #2 or #3 for last three digits (8/32 x 5/8 is “132"). Put the two together for a
part number of 40132, or simply order by style and size. Include the prefix SP-40132 for Stainless Steel Polished.
|
10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




22

Chrome Plated Washers

Flat Washer
(SAE Standard)
6 23565
8 23566
10 23567 _
12 23568
1/4 23569
5716 | 23570 X ;
3/8 23571 T
7716 | 23572
172 23573
9/16 | 23574
578 23575
34 23576

Hardened Flat Washer

"G-W" Washers
1/4 33569 -
5/16 33570
3/8 33571 %
7/16 33572 -
12 33573
5/8 33575

An Flat Washer
Small Od Chrome

10 26567

(3/16)

1/4 26569

5/16 26570 3
3/8 26571 .

7716 26572 k

12 26573 \.q_____ _

9/16 26574

5/8 26575

3/4 26576
Lock Washer
| Siee Pt

6 24565

8 24566

174 24569
516 | 24570 . Q""/
378 24571

7716 | 24572

2 24573

o116 | 24574

573 24575

34 24576

10| 24567 —
12| 24568 7 T

Hi Collar Lock Washer

8 25566
10 25567

1/4 25569 .*- =Iq.‘ .

5/16 25570

3/8 25571 - :
7116 | 25572 ol
2 25573

578 25575

Internal Lock Washer

6 29565

8 29566

10 29567 vy
12 29568 Lk -
14 29569 .
5/16 | 29570 =

318 29571

7716 | 29572

12 29573

5/8 29575

External Counter-Sunk

6 35565

8 35566 Y

10 35567 k d
12 35568 S
174 35569

5716 | 35570

External Lock Washer

6 32565

8 32566

10 32567 8 e -
12 32568 = -
1/4 32569 5 =
5/16 32570 bl
3/8 32571

7/16 32572

1/2 32573

Flush Washer

6 41565
8 41566
10 41567

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com

Cup Washers
1/2x11/4 22420
3/8x11/4 22334
12X 17/16 22418
5/8x11/4 22490

@ @

22420 cup washer 22334 cup washer
4 } Q }
22418 cup washer 22490 cup washer

Finishing Washer
6

34565
8 34566
10 34567

12 34568 { :
14 34569 )

Super Flat Washer

(Fender Washers)
Size Part #
3/16 x 1 OD (10) 23162
1/4x 10D (1/4) 23214
1/4x 1 1/4 OD (1/4) 23218

5/16x 1 1/18OD (5/16) | 23280
5716 x 1 /4 OD (5/16) | 23284
5/16x 1 1/2 OD (5/16) | 23286
11/32x 1 1/32 0D (1/8) | 23283

3/811/2 OD (3/8) 23336
3/8x 10D (3/8- 7/16) 23376
7716 x 15/16 (3/16) 23375
7/16 x 1 1/8 OD (1/8) 23377
7/16 x 1 1/8 OD (5/32) 23379
12x2 0D (112) 23424
Flat Washer
(USS Standard)
Size Part #|
14 (5/16 ID X 3/4 OD) 23274
516 (3/81D X 7/8 OD) 23328
3)8  (7/16IDX10D) 23376
7/16 (121D X 1 1/4 OD) 23418
12 (9/16ID X 1 3/80D) 23456
9716 (5/8 1D X 1 1/2 OD) 23492




23

Nuts, Chrome Plated

Hex Nuts
4140 15536
5/20 15537
6/32 15538
8132 15540
10124 15542
10/32 15543
P4 15544
1/4-20 15546 p
1/4-28 15547 3}
5/16 - 18 15548 ‘\,,—
5716 - 24 15549
3/8-16 15550
31824 15551
7716 - 14 15552
7716 - 20 15553
12-13 15554
1/2-20 15555
9716 - 12 15556
9/16-18 15557
5/8- 11 15558
5/8- 18 15550
3/4-10 15560
34-16 15561

Left Hand Hex Nuts

Size Part #

5/16-24 16549-L
3/8-24 16551-L
7116-20 16553-L

1/2-20 16555-L
5/8-18 16559-L
3/4-16 16563-L

Thin - Jam Hex Nuts

Size Part# |
1/4-20 16546
1/4- 28 16547

5/16 - 18 16548
5/16 - 24 16549
3/8-16 16550
3/8-24 16551
7/16 - 14 16552
7/16 - 20 16553
1/2-13 16554
1/2-20 16555
9/16-12 16556
9/16 - 18 16557

5/8-11 16558

5/8-18 16559

3/4-10 16560

3/4-16 16561

Wing Nuts

Size | Part # 2
1/4-20 23546 | @i

5/16 - 18 23548

3/8-16 23550

Nylon Insert Locknuts

4/40 17536
5/40 17537
6/32 17538
8/32 17540
10/24 17542
10/32 17543
12/24 17544
1/4-20 17546

1/4-28 17547
5/16-18 | 17548
516 -24 | 17549 -—
3/8- 16 17550
3/8- 24 17551
7M16-14 | 17552
7116-20 | 17553
12-13 17554
1/2-20 17555
M6-12 | 17556
9M16-18 | 17557
5/8- 11 17558
5/8- 18 17559
3/4-10 17560
3/4-16 17561

ALWAYS USE WAX OR PARAFIN ON
NYLON INSERT LOCKNUTS

Thin - Jam
Nylon Insert Locknuts

1/4-20 27546
1/4-28 27547
5/16 - 18 27548
5/16 - 24 27549

3/8-16 27550

3/8-24 27551

7/16-14 27552

7/16 - 20 27553 & h
1/2-13 27554 ™ —
1/2-20 27555

9/16 - 12 27556
9/16 -18 27557

5/8-11 27558
5/8-18 27559
3/4-10 27560
3/4-16 27561
Flange Nuts

1/4-20 44546
5/16 -18 44548
5/16 - 24 44549
3/8-16 44550
3/8-24 44551

1/2-13 44554
1/2-20 44555

Slotted Nuts

Size Part #
1/4- 20 22546
1/4-28 22547

5/16- 18 22548 ﬁ
5/16 - 24 22549
3/8-16 22550
3/8-24 22551
7716 - 14 22552
7716 - 20 22553
12-13 22554
172-20 22555
9/16- 12 22556

9/16 - 18 22557

5/8-11 22558

5/8-18 22559 ’
3/4-10 22560 L
3/4-16 22561

Flexloc Nuts (All Metal)

10/24 18542 28542

10/32 18543 28543

1/4 - 20 18546 28546

1/4 - 28 18547 28547

5/16 - 18 18548 28548

5716 - 24 18549 28549

3/8-16 18550 28550

3/8-24 18551 28551

7/16 - 14 18552 28552

7/16 - 20 18553 28553

1/2-13 18554 28554

1/2-20 18555 28555

9/16 - 12 18556 28556

9/16 - 18 18557 28557

5/8-11 18558 28558

5/8-18 18559 28559

3/4-10 18560 28560

3/4-16 18561 28561
Allen Nuts

10/24 19542

10/32 19543

1/4-20 19546

1/4-28 19547 .

5/16-18 10548

5/16-24 19549 \__: 3 <

3/8-16 19550

3/8-24 19551

7/16-14 19552

711620 19553

1/2-13 19554

1/2-20 19555

5/8-11 19558

5/8-18 19559

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110

Email: sales@gardner-westcott.com




24

Nuts, Chrome Plated Cont.

Low Crown Acorn
(Coarse Thread)

Size Part # Threads
Per Inch

8/32 33540 32

10/24 | 33542| 24

1/4 33546 20

5/16 33548 18

3/8 33550 16

7116 33552 14

1/2 33554 13

Low Crown Acorn
(Fine Thread)

«

Size Part# Threads ‘
Per Inch
10/24 | 33543 24
1/4 33547 28
5/16 33549 24
3/8 33551 24
7/16 33553 20
1/2 33555 20
Acorn Nuts
(Fine Thread)
Size Part # Threads‘
Per Inch
3/16 21543 32
1/4 21547 28
5/16 21549 24
3/8 21551 24
7116 21553 20
1/2 21555 20
9/16 21557 18
5/8 21559 18
3/4 21561 16
1/4 -24] 21562 (Harley)
Acorn Nuts
(Coarse Thread)
Size | Part# Threads
Per Inch
6/32| 21538 32
8/32 | 21540 32
3/16 | 21542 24
1/4 21546 20
5/16 | 21548 18
3/8 21550 16
7/16 | 21552 14
1/2 21554 13
9/16 | 21556 12
5/8 21558 11
3/4 21560 10

Acorn Nuts (British Whitworth)

1/4-26 21569
5/16-26 21570
3/8-26 21571
7/16-26 21572
1/2-26 21573
3/4-20 21576

Acorn Push On Covers

Wrench Part # | Bolt/Nut
Size | Diameter |
7116 45552 |1/4
1/2 45554 |5/16
9/16 45556 | 3/8
5/8 45558 |7/16
11/16 45559
3/4 45560 |1/2
718 45562
12 Point Nuts

Size Part# Wrench

Size

1/4-28 29547 | 5/16
5/16-24 29549 | 3/8
3/8-24 29551 | 7/16

Spacers, Chrome Plated
Length | Part#

ID oD

3/16 20080 U4 | 716
174 20081 174 | 7/16
38 20082 4 | 7716
578 20083 14 | 7/16
34 20084 4 | 7/16
778 20004 4 | 7716
1-1716" | 20085 74 | 7/16
3716 20049 516 | 172
174 20050 516 | 172
172 20051 56 | 172
17/32 | 20093 516 | 172
34 20052 516 | 172

T 20053 516 | 172
1-1/4" | 20054 516 | 12
178 20087 38 | 9/16
5/32 20001 38| 13/16
174 20067 3)8 | 58
5716 C3132 | 38 | 1"

2 20069 3)8 | 58
2 20092 3/ | 13/16
34 20070 3)8 | 58

T 20072 38 | 58
1-172 20075 3)8 | 58
3/32 C-31-30 | 7/16 | a/4
5716 20088 7116 | 1-1/16
5716 23200 12 | 1-1/16
38 C31-100| 58 | 1-1/2

2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




25

]
Cotter Pins:

Chrome, Stainless or Zinc

Size Chrome Stainless Zinc
Part # Part# Part#

1/16 x 1/2 78580

1/16 x 3/4 78587 01587

1/16 x 1 1/4 78588a f

5/64 x 3/4 78581 !

3/32 x 3/4 78589 01589

3/32x1 29590 78590 01590

3/32x11/4 |29591A 78591 01591

3/32x11/2 78591a

3/32x13/4 | 29587

1/8 x 3/4 29592 78592 01592

1/8x1 78584

1/8x11/4 29593 78593 01593

1/811/2 29585 78585

1/8 x13/4 78585a

1/8 x 2 78595

5/32x1 78595hb

5/32x11/2 |29588 78588 01599

5/32 x11/34 78586

3/16 x 1 29594 78594 01594

3/16 x 1 3/4 78597

Hole Plugs, Chrome Plated

Size Part # | Use with

Allen Screw
3/16 43567 | 1/4
1/4 43569 | 5/16
5/16 43570 | 3/8
3/8 43571 | 7116
7116 43572
1/2 43573 F
5/8 43575 \u-__,-"
3/4 43576
718 43577
1 43578
11/4 |43579
11/2 |43580
Allen Pipe Plugs
Chrome Plated
1/16 31587
1/8 31588
1/4 31569 ”{":
3/8 31571
1/2 31573
34 31576 Allen Pipe Plug. Note: see fittings section

for more pipe plugs.

Hose Clamps in Stainless Steel

Entire clamp is Stainless Steel including the screw.
This product is manufactured in Sweden. Rolled up
band edges and smooth inside surface of the clamp
spare the hose and insure a high and uniform
tightening force. With the flexible screwdriver you can
tighten and slacken the clamp from an angle of 90
degrees without slipping.

Part# | Size ~Minimum Maximum
Diameter Diameter
67014 3 5/16 5/8
67017 4 7/16 3/4
67020 6 1/2 7/8
67024 8 5/8 11/16
67028 10 3/4 13/16
67032 12 718 17/16
67038 16 11/16 15/8
67044 20 1Y 17/8
67050 24 1% 21/16
67056 28 1% 2 3/8
67065 32 2" 211/16
67075 | 36 25/16 31/8
67085 44 211/16 31/2
67095 48 3" 37/8

| 67N10 | Flexible Screwdriver- |

Muffler Clamps -(O.D. Pipe Size)
Polished Stainless Steel

Size ‘ Part #

158 | 67337
13/4 | 67338
17/8 | 67339
2" 67340
21/4 | 67342
21/2 | 67344

Threaded Rod -- Stainless Steel
(Three Foot Lengths)

Size Part #
6/32 63122
8/32 63148
10/24 63180
10/32 63181
1/4-20 63232
1/4-28 63233
5/16-18 | 63298
5/16-24 | 63299
3/8-16 63348
3/8-24 63349
7/16-14 | 63392
7/16-20 | 63393
15-13 63432
15-20 63433
5/8-11 63504

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




26

American Thread Bulk Fasteners - Stainless Steel

Stainless Allen

Allen Screws, Stainless Steel
(ADD THE PREFIX SP- WHEN ORDERING POLISHED STAINLESS)

6/32 8/32 10/24 10/32 1/4 1/4 5/16 5/16 3/8 3/8 7/16 1/2

3/8 73104 | 73128 | 73152 | 73153 | 73204

1/2 73106 | 73130 | 73154 | 73155 | 73206 [ 73207 [ 73270 73322

5/8 73132 | 73156 | 73157 | 73208 [ 73209 [ 73272 73324

3/4 73110 | 73134 | 73158 | 73159 | 73210 | 73211 | 73274 | 73275 | 73326 | 73327 | 73374 | 73414
7/8 73136 | 73160 | 73161 | 73212 73278 | 73279 | 73328

1 73114 | 73138 | 73162 | 73163 | 73214 | 73215 [ 73280 [ 73281 | 73330 | 73331 | 73376 | 73416
11/4 73140 | 73166 | 73167 | 73218 | 73219 | 73284 [ 73285 [ 73334 | 73335 | 73378 | 73418
11/2 73142 | 73168 | 73169 | 73220 | 73221 | 73286 | 73287 | 73336 | 73337 | 73380 | 73420
13/4 73170 | 73171 | 73222 | 73223 | 73288 | 73289 [ 73338 | 73339 | 73382 | 73422
2 73122 73172 | 73173 | 73224 73290 | 73291 | 73340 | 73341 [ 73384 [ 73424
21/4 73174 73226 73292 73342 73342 | 73426
2172 73176 73228 73294 | 73295 | 73344 | 73345 | 73388 | 73428
23/4 73230 73296 73346 73430
3 73232 73298 | 73299 | 73348 73392 | 73432
3172 73236 73302 73352 | 73353 | 73396 | 73436
4 73240 73306 73356 | 73357 | 73400 | 73440

Button Head Allen Screws, Stainless Steel
(ADD THE PREFIX SP- WHEN ORDERING POLISHED STAINLESS)

1024  10/32  1/4 1/4 516 5116  3/8 3/8 Button Allen
14 | 72102 | 72126 | 72150 | 72151
38 | 72104 | 72128 | 72152 | 72153 | 72204
12 | 72106 | 72130 | 72154 | 72155 | 72206 72270 72320
5/8 72132 | 72156 | 72157 | 72208 72272
34 | 72110 | 72134 | 72158 | 72150 | 72210 | 72211 | 72274 | 72275 | 72326
1 72114 | 72138 | 72162 | 72163 | 72214 | 72215 | 72280 | 72281 | 72330 | 72331 | 72416
1174 72166 | 72167 | 72218 72284 72334 72418
112 72168 | 72169 | 72220 72286 72336 72420
1374 72222
2 72204 72290 72340 72424
212 72294 72344
i
LY
Flat Head Allen Screws, Stainless Steel k4 B
(ADD THE PREFIX SP- WHEN ORDERING POLISHED STAINLESS) Flat Head Allen
6/32 832 1024  10/32  1/4 516  5/16
T - 24
3/8 71104 71152 | 71153 | 71204
2 71106 | 71130 | 71154 |711556 |71206 71270
5/8 71132 | 71156 | 71157 | 71208 71272
34 71134 | 71158 |71159 |71210 |71211 |71274 71326
1 71114 | 71138 | 71162 | 71163 |71214 |71215 |71280 |71281 |71330 |71416 |71488
1174 71140 | 71166 | 71167 |71218 |71219 |71284 71334 | 71418 | 71490
112 71142 | 71168 | 71169 |71220 |71221 |71286 71336 | 71420 | 71492
1304 71222 71288 71338 | 71422 | 71494
2 71224 71290 71340 | 71424 | 71496

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




Hex Caps, Stainless Steel .m

(ADD THE PREFIX SP- WHEN ORDERING POLISHED STAINLESS) "
10/32 1/4-20 1/4-28 | 5/16-18 5/16-24 | 3/8-16  3/8-24 7/16-14 | 7/16- 20 1/2-13  1/2-20

1/2 77154 | 77155 [ 77206 77207 77270 77271 77322 77323

5/8 77156 | 77157 | 77208 77209 77272 77273 77324 77325

3/4 77158 | 77159 [ 77210 77211 77274 77275 77326 77327 77414

718 77212 77213 77278 77279 77328 77329

1 77162 | 77163 | 77214 77215 77280 77281 77330 77331 77376 77377 77416 77417
11/4 | 77166 | 77167 | 77218 77219 77284 77285 77334 77335 77378 77379 77418 77419
11/2 | 77168 | 77169 | 77220 77221 77286 77287 77336 77337 77380 77381 77420 77421
13/4 77222 77223 77288 77289 77338 77339 77382 77383 77422 77423
2 77224 77225 77290 77291 77340 77341 77384 77385 77424 77425
21/4 77226 77227 77292 77293 77342 77343 77386 77387 77426 77427
21/2 77228 77229 77294 77295 77344 77345 77388 77389 77428 77429
23/4 77230 77231 77296 77346 77430

3 77232 77233 77298 77299 77348 77349 77392 77393 77432 77433
31/4 77234 77235 77300 77350 77394 77434 77435
312 77236 77237 77302 77352 77396 77436

33/4 77238 77239 77304 77438

4 77240 77241 77306 77356 77357 77400 77440

41/2 77244 77310 77360 77361 77404 77442

5 77246 77312 77362 77406 77444

51/2 77316 77366 77446

6 77318 77368 77412 77448

Set Screws, Plain Alloy Steel

10/24 | 10/32 14-20 1/4-28 5/16-18 5/16-24 | 3/8-16 | 3/8-24

14 | 47102 | 47126 | 47150 | 47151

3/8 | 47104 | 47128 | 47152 | 47153 | 47204 | 47205 | 47268

172 | 47106 | 47130 | 47154 | 47155 | 47206 | 47270 | 47270 | 47271 | 47322 | 47323

5/8 | 47108 | 47132 | 47156 | 47157 | 47208 | 47247 | 47272 | 47273 | 47324 | 47325 A
374 | 47110 | 47134 | 47158 | 47159 | 47210 | 47211 | 47274 | 47275 | 47326 | 47327 \ \
1 47114 | 47138 | 47162 | 47163 | 47214 | 47215 | 47280 | 47281 | 47330 | 47331 ' i
1174 47166 | 47167 | 47218 | 47210 | 47284 | 47285 | 47334 | 47335 ‘ _JHJJ_{J)J'
112 47168 | 47160 | 47220 | 47221 | 47286 | 47289 | 47336 | 47337 TP
13/ 47222 47288

2 47224 | 47225 | 47290 | 47291 | 47340 | 47341

2172 47228 47294 47344

Carriage Bolts - Stainless Steel

(ADD THE PREFIX SP- WHEN ORDERING Bumper Bolt

POLISHED STAINLESS) (Stainless Steel Capped)
3/16 1/4 5/16 3/8 | 1/2 \

1/2 79154 | 79206
3/4 79158 | 79210 | 79274 | 79326 5/16 x 3/4 18274

T 7orez | 7ozua | 70200 [ 7950 L. VL T
3/8x11/2 18336

1 79166 | 79218 | 79284 | 79334 cap. For polished stainless add

1 79168 | 79220 | 79286 | 79336 7161 18376 .40. See carriage bolts for entire

1 79222 | 79288 | 79338 | 79422 716 x11/4 | 18378 bolt made of Stainless Steel

2 79172 | 79224 79290 | 79340 79424 7/16 x 11/2 | 18380 '

2 79228 | 79294 | 79344 | 79428 7/16 x 1 3/4 | 18382

2 79230 1/2x13/8 | 18420

g ;ggg‘g ;gggg ;gg‘s‘g ;gféé (ADD THE PREFIX SP- WHEN ORDERING

4 79240 | 79306 | 79356 | 79440 POLISHED STAINLESS)

4 79360

5 79362

6 79368

|
10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110

Email: sales@gardner-westcott.com




28

Washers, Stainless Steel

Internal Washers
Stainless Steel

Size | Part# |

4 82564

6 82565

8 82566

10 82567 & v 5
1/4 82569 = -
5716 | 82570 B.o a2l
3/8 82571

7/16 |82572

1/2 82573

5/8 82575

External Washers
Stainless Steel

Size | Part # |
4

83564
6 83565
8 | 83566 N
10 83567 = ol
1/4_| 83569 o ' 4
5716 | 83570 e
3/8 | 83571
7/16 | 83572
172 | 83573
5/8 |83575
Cup Washer
Stainless Steel
6 78565
8 78566
10 78567
14 | 78569
5/16 | 78570
Flat Washer
Stainless Steel
Size | Part# |
4 75564
6 75565
8 75566
10 75567
1/4 75569 i
5/16 | 75570 '
38 | 75571 o S
7/16 | 75572
1/2 75573
5/8 75575
3/4 75576

Lock Washer

Stainless Steel

Size |Part#

4 76564

6 76565

8 76566 )

10 76567 ---*‘*ﬂs.i' =
1/4 76569

5/16 | 76570 \_j-/
3/8 76571

7/16 |76572

12 | 76573

5/8 76575

3/4 76576

Super Flat Washer,

((ADD THE PREFIX SP- WHEN ORDERING POLISHED STAINLESS))

Stainless Steel

Size

3/16 x 11/16

Part #

66157

1/4x1

66214

1/4x11/4

66218

5/16 x 3/4

66274

5/16 x11/2

66286

318 x7/8

66328

3/8x11/2

66336

7/16x11/8

66377

1/2x11/4

66418

1/2x2

66424

5/8 x11/2

66492

3/4x13/4

66528

AN Washers, Small OD,
Stainless Steel

Size | Part #

1/4 84569

5/16 |[84570 =
3/8 84571 [

7116 | 84572

1/2 84573 \"'--_
5/8 84575

3/4 84576

White Nylon
Flat Washer

High Collar Lock Washer
Stainless Steel

8

87566

10

87567

1/4

87569

5/16

87570

3/8

87571

7/16

87572

1/2

87573

5/8

87575

P
1/4 | 80569 o o
5/16 [ 80570 e
3/8 | 80571

Neoprene Backed

External Countersunk
Washer
Stainless Steel

Flat Washer
Stainless Steel
Size Part #
10 81567
1/4 81569
5/16 81570
3/8 81571
1/2 81573

6

89565

8

89566

10

89567

1/4

89569

5/16

89570

2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com

Y

- e

&



29

Nuts, Stainless Steel
(ADD THE PREFIX SP- WHEN ORDERING POLISHED STAINLESS)

Hex Nuts Acorn Nuts Jam Lock Nuts
Stainless Steel Stainless Steel Stainless Steel
6/32 70538 6/32 68538 1/4-20 66546
8/32 70540 8/32 68540 1/4-28 66547
10/24 70542 10/24 68542 5/16-18 66548
10/32 70543 10/32 68543 5/16-24 | 66549
1420 | 70546 1/4-20 | 68546 3/8-16 | 66550
1/4-28 | 70547 1/4-28 | 68547 & 3/8-24 | 66551 k@,
5/16-18 | 70548 @ 5/16-18 | 68548 7/16-14 | 66552 —
5/16-24 | 70549 ==/ 5/16-24 | 68549 | 3 7/16-20 | 66553
3/8-16 | 70550 3/3-16 | 68550 e—— 1/2-13 | 66554 Jam Locknut
3/8-24 | 70551 3/8-24 | 68551 1/2-20 | 66555
7/16-14 | 70552 7/16-14 68552 5/8-11 66558
7/16-20 70553 Hex Nut 7/16-20 68553 Acorn Nut 5/8-18 66559
1/2-13 70554 1/2-13 68554 3/4-16 66561
1/2-20 | 70555 172-20 | 68555
9/16-12 | 70556 5/8-11 68558
9/16-18 | 70557 5/8-18 | 68559
5/8-11 70558
5/8-18 70559
3/4-10 | 70560
3/4-16 70561
Castle Nuts

Stainless Steel

Nylon Insert Lock Nuts, e i
Jam Nuts . 3/8-24 | 81551 p
Stainless Steel 1/2-13 | 81554 L=

Stainl Steel .

tainless Stee v220 | sisss
RN wo1s s

1/4-20 | 67546 832 79510 Castle Nut
1428 | 67547 10724 [ 69542 ‘

5/16-18 | 67548 . 10732 69543 t\..____z'f

5/16-24 | 67549 ? 1/4-20 | 69546 —"

3/8-16 | 67550 \r‘l 1428 | 69547

3/8-24 | 67551 : 5/16-18 | 69548 Pipe Plugs

716-14 | 67552 5/16-24 | 69549 Nylon Insert Locknuts size | Part#

771620 | 67553 - | Size Part # |

Jam Nut 3/8-16 69550 1/8 86588

1/2-13 | 67554 3/8-24 | 69551 T4 se560

172-20 | 67555 7716-14 | 69552 T T

9/16-18 | 67557 7116-20 | 69553

5/8-11 67558 1/2-13 69554 L2 86573

5/8-18 | 67559 1/2-20 | 69555 34| 86576

3/4-16 | 67561 9716-12 | 69556

9/16-18 | 69557
5/8-11 69558
5/8-18 69559
3/4-10
3/4-16

|
10110 Six Mile Road, Northville, MI. 48167

Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




30

L-9 Products, Zinc Plated

L-9 Hex Nuts

Size Coarse Fine
Part # Part #

1/4 52546 52457

5/16 52548 52549

3/8 52550 52551

7/16 52552 52553

1/2 52554 52555

9/16 52556

5/8 52558 52559

L-9 Hex Caps

L-9 Flatwashers

Size Part #

1/4 55569

5/16 55570

3/8 55571

7/16 55572 _

1/2 55573 —
9/16 55574

5/8 55575

(Zinc Dicromated Plated -180,000 PSI Tensile Strength)
3/8

-24

Grade 8 Lockwashers
Size ‘ Part # ‘

1/4 52569
5/16 | 52570

5 Torarz -

12 | 52573 \_ﬁ"/
9/16 | 52574
5/8 | 52575

Hex Cap

1/2 52206 | 52207 | 52270 52322

3/4 52210 | 52252 | 52274 | 52275 | 52326 | 52327 | 52374

1" 52214 | 52215 | 52280 | 52281 | 52330 | 52331 | 52376 | 52377 | 52416 | 52417 | 52452 | 52488

1Y% | 52218 | 52219 | 52284 | 52285 | 52334 | 52335 | 52378 | 52379 | 52418 [ 52419 52490

1% | 52220 [ 52221 | 52286 | 52287 | 52336 | 52337 | 52380 | 52381 | 52420 | 52421 | 52456 | 52492 | 52493
1% | 52222 52288 | 52289 | 52338 | 52339 | 52382 52422 | 52423 52494 | 52495
2" 52224 | 52225 | 52290 | 52291 | 52340 | 52341 | 52384 | 52385 | 52424 | 52425 | 52460 | 52496 | 52497
2Y 52342 | 52342 52426 52498 | 52499
2% | 52228 | 52229 | 52294 | 52295 | 52344 | 52345 | 52388 | 52389 | 52428 | 52429 | 52464 | 52500 | 52501
3’ 52232 | 52233 | 52298 | 52299 | 52348 | 52349 | 52392 | 52393 | 52432 | 52433 | 52468 | 52504 | 52505
3% 52302 52352 52396 | 52397 | 52436 | 52437 | 52472 | 52508 | 52509
4" 52306 52356 52400 52440 | 52441 | 52476 | 52512 | 52513
4% 52360 52404 52442 52514 [ 52515
5" 52362 52406 52444 | 52445 | 52480 | 52516 | 52517
6" 52368 52448 | 52449 52520 | 52521

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




31

X
Metric Thread Bulk Fasteners - Chrome Plated

Allen Screws, Chrome Plated KEY:
10mm/ | 12mm/ Read Across for
) . 1.25 1.75 :
8 12721 | 12734 Diameter
10 (12711 12722 12735 |12770 Read Down for Length
12 (12712 12723 12736 |12771
16 (12714 12725 12738 |12772
20 | 12715 |12726 [12739 12773 | 12773F |12794 12816 -
25 [12716 [12727 |12740 12774 | 12774F |12795 12817 12836
30 12717 [12728 |12741 12775 | 12775F |12796 12818 12837 — ——
35 12729 (12742 12776 | 12776F |12797 12819 12838 "7 Allen Screw
20 12730 12743 |12777  |12777F | 12798 12820 12839
75 12731 12744 |12778 | 12778F |12799 12821 12840
50 12732 12745 12779 |12779F |12800 12822 12841
55 12746 | 12780 12801 12823 12842 o
60 12747 |12781 12802 12824 12843 ' ' )
65 12748 | 12782 12803 12825 12844 m
70 12749 | 12783 12804 12826 12845 o '
75 12750 | 12784 12805 12827 12846 Polished Allen Screw
80 12751 | 12785 12806 12828 12847
85 12786 12807 12829 12848
90 12753 | 12787 12808 12830 12849
Button Head Allen Screws Chrome Plated Flat Head Allen Screws Chrome Plated
6mm/ | 8mm/ 10mm / d4mm/ | 5mm/ 6mm/ 8mm/ 10mm /
1.0 1.25 1.50 0.7 0.8 1.0 1.25 1.50
6 |14709
8 13710 |13721 |[13734 8 | 14710 | 14721 | 14734
10 (13711 [13722 13735 13770 10 [14711 |14722 |14735
12 (13712 |13723 13736 13771 12 [14712 14723 |14736 14771
16 [13714 |13725 13738 |13772 |13793 16 | 14714 | 14725 |14738 |14772 | 14793
20 13726 | 13739 | 13773 | 13794 20 | 14715 | 14726 |14739 | 14773 | 14794
25 13727 | 13740 | 13774 | 13795 25 [14716 |14727 |14740 | 14774 | 14795
30 13728 |13741 |13775 | 13796 30 | 14717 | 14728 |14741 14775 | 14796
35 13776 [ 13797 35 | 14718 | 14729 |14742 14776 | 14797
20 13777 | 13798 20 | 14719 | 14730 |14743 14777 | 14798
45 |14720A | 14731 | 14744 14778 | 14799

Hex Caps, Chrome Plated

14mm /

2.00

10 11711 11722 11735 11760 11770

16 11714 11725 11738 11762 11772 11793

20 11715 11726 11739 11763 11773 11794 11816 11835 11856 11873

25 11716 11727 11740 11764 11774 11795 11817 11836 11857 11874

30 11717 11728 11741 11765 11775 11796 11818 11837 11858 11875

35 11729 11742 11766 11776 11797 11819 11838 11859 11876

40 11730 11743 11767 11777 11798 11820 11839 11860 11877 _ .
45 11731 11744 11778 11799 11821 11840 11861 r7 =
50 11732 11745 11769 11779 11800 11822 11841 11862 11879 Hex Cap

55 11746 11780 11801 11823 11842 11863

60 11747 11781 11802 11824 11843 11864 11881

65 11748 11782 11803 11825 11844 11865

70 11749 11783 11804 11826 11845 11866 11883

75 11750 11784 11805 11846 11867

80 11751 11785 11806 11828 11847 11868 11885

90 11753 11787 11808 11830 11849 11870 11887

100 11755 11788 11809 11831 11850 11871 11888

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




32

Metric Washers, Chrome

Flat Washer
Chrome Plated
Size Part #

m4 23985

m5 | 23986
m6 23987

m7 23988

m8 | 23989
m10 23990
ml2 23991
mi4 | 23992
ml16 23993

Lock Washer
Chrome Plated
m4 24985

mb 24986

mbé 24987

m7 24988

ml2 | 24991
ml4 | 24992
ml6 | 24993

Metric Nuts, Chrome Plated

Hex Nuts

Chrome Plated

m4 x .70 15950
m5 x .80 15952
m6 x 1.0 15954
m7x1.0 15956
m8x 1.0 15957
m8 x 1.25 15958
m10 x 1.25 15961
ml10x 150 | 15962
ml2 x 1.25 15963
ml12 x 1.50 15965
ml2x1.75 | 15966
ml4 x 150 | 15967
ml4 x 2.00 | 15968
ml6 x 1.50 | 15969
ml6x2.00 | 15970
Jam Nuts
Chrome Plated
Size Part #
m4 x .70

m5 x .80

m6x 1.0

m7x 1.0

m8x 1.0 16957
m8x1.25 16958
ml0x1.25 | 16961
ml0x 150 | 16962
ml2 x 1.25 16963
ml2x 150 | 16965
ml2 x 1.75 16966
ml4 x 1.50 16967
ml4 x2.00 | 16968
ml6x 150 | 16969
m16 x 2.00 | 16970

-

o

Jam Nylon Insert
Locknuts, Chrome Plated

Size Part #
ml0x 125 | 27961

m10x 1.50 [ 27962

ml2 x 1.25 27963

ml12x 1.50 [ 27965
ml12x1.75 | 27966 [ = ']
7

ml14 x 1.50 | 27967 -—

ml14 x2.00 | 27968

m16 x 1.50 [ 27969

m16 x2.00 | 27970

Acorn Nuts
Chrome Plated

Size Part #
m4 x.70 21950

m5 x .80 21952

m6 x 1.0 21954

m7x1.0 21956

m8x 1.25 21958

m10x1.25 | 21961

m10x 1.50 | 21962

Acorn Nut

ml2x1.25 | 21963

ml12x1.50 | 21965

ml2 x 1.75 21966

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com

KEY:
Read Across for
Diameter

Read Down for Length

m8 | 24989 \\_’_/
mi0_| 24990

Nylon Insert

Locknuts, Chrome Plated
m4 x .70 17950
m5 x .80 17952
m6x1.0 17954
m7x1.0 17956
m8x1.0 17957
m8x1.25 17958
ml10 x 1.25 17961
m10 x 1.50 17962
ml2 x 1.25 17963
mi12 x 1.50 17965
mil2 x 1.75 17966
ml14 x 1.50 17967
ml4 x 2.00 17968
m16 x 1.50 17969
mi16x 200 | 17970




33

]
Metric Thread Bulk Fasteners - Stainless Steel

Allen Screws, Stainless Steel Flat Allen Screws, Stainless Steel

5mm/ | 6mm/ 8mm / 10mm/ | 12mm/ emm / 8mm / 10mm/

0.8 1.0 1.25 1.50 1.75 1.0 1.25 1.50
8 73721 | 73734
10 | 73711 | 73722 | 73735 | 73770 8 | 71710 |71721 |71734
12 [73712 | 73723 | 73736 | 73771 10 | 71711 71722 [ 71735
16 | 73714 | 73725 | 73738 | 73772 12 | 71712 | 71723 | 71736 | 71771
20 | 73715 | 73726 | 73739 |73773 | 73794 | 73835 16 | 71714 | 71725 | 71738 | 71772 71793
25 | 73716 | 73727 | 73740 | 73774 | 73795 | 73836 20 | 71715 | 71726 | 71739 | 71773 71794
30 | 73717 | 73728 |73741 | 73775 |73796 | 73837 25 | 71716 71727 [ 71740 71774 71795
35 73729 | 73742 | 73776 | 73797 | 73838 30 | 71717 | 71728 | 71741 | 71775 71796
40 73730 | 73743 | 73777 | 73798 | 73839
75 73731 | 73744 | 73778 | 73799 | 73840 _KEY:
) 73730 173745 73779 | 73800 | 73841 Read Across for Diameter Read Down for Length
55 73746 | 73780 | 73801 | 73842 NOTE: Specify stainless polished when ordering.
60 73747 | 73781 | 73802 | 73843
65 73748 | 73782 |73803 | 73844 Metric Hex Caps, Stainless Steel
70 73749 | 73783 | 73804 | 73845
75 =3750 =378 =3805 =3846 4mm / 5mm/ 6mm/ 8mm/ 10mm 12mm/

0.7 0.8 1.0 1.25 /150 1.75
80 73751 | 73785 | 73806 | 73847
10 77711 | 77722 | 77735 | 77770
90 73753 | 73787 | 73808 | 73849
100 —5788 73800173550 16 77714 | 77725 | 77738 | 77772 | 77793
20 77715 | 77726 | 77739 | 77773 | 77794 | 77835

(ADD THE PREFIX SP- WHEN ORDERING POLISHED

25 77716 | 77727 | 77740 | 77774 | 77795 | 77836

STAINLESS) 49 30 | 77717 | 77728 | 77741 | 77775 | 77796 | 77837
* reat 35 77729 77742 77776 77797 77838
. 40 77730 77743 7777 77798 77839
Button Allen Screws, Stainless Steel 45 77731 | 77744 | 77778 | 77799 | 77840
50 77732 77745 77779 77800 77841
. . . 55 77746 77780 77801 77842
8 72710 72721 72734 60 77747 77781 77802 77843
10 | 72711 72722 72735 72770 65 77748 77782 77803 77844
12 | 72712 72723 72736 72771 70 77749 77783 77804 77845
16 | 72714 72725 72738 72772 72793 75 77750 77784 77805 77846
20 72726 72739 72773 72794 80 77751 77785 77806 77847
25 72727 72740 72774 72795 90 77753 77787 77808 77849
30 72728 72741 72775 72796 100 77755 77788 77809 77850
(ADD THE PREFIX SP- WHEN ODERING POLISHED 110 77756 | 77789 | 77810 | 77851
STAINLESS)
Metric Washers, & Nuts Stainless Steel
Wave Washer, Stainless Lock Washer, Stainless Hex Nuts, Stainless Steel
mb5 76986W m4 76985 m4 x .70 70950
m6 76987W m5 76986 P m5 x .80 70952 4 a b
m8 | 76989W m6 | 76987 T m6 x 1.0 70054
m10 76990W m8 76989 r J m8x 1.25 70958 \‘-_J
m10 76990 I\J/ m10 x 1.50 70962
. ml2 76991 ml2 x 1.75 70966
Flat Washer, Stainless mi4 | 76992
- mi6 | 76993 ,
Size  Part# Nylon Inserts, Stainless
m4 75985 "
S £986 i Size Part #
= Jam Nuts, Stainless ma x .70 69950
m6 75987 ( Size Part # m5 x .80 69952 ‘
me 75989 - SN
>-—

e Uz m8x125 | 67958 @} m6 x 1.0 69954

mi2 75991 m10 x 1.50 67962 m8x 1.25 69958
mia 75992 mi12 x 1.75 | 67966 m10 x 1.50 | 69962
ml16 75993 ml2 x 1.75 69966

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




34

Assortments

Standard Thread Assortments - Chrome Plated

Alphabetical Listing Size Part #
Acorn Nuts #8 thru 5/8 Diameter Fine & Coarse Thread 14 Sizes A-7
Allen Screws — Chrome 4-40, 6/32, 8/32, 12/24 Diameters 24 Sizes A-39
Allen Screws — Polished Chrome same as above 24 Sizes A-39P
Allen Screws — Chrome 10/24 & 10/32 Diameters 23 Sizes A-38
Allen Screws — Polished Chrome same as above 23 Sizes A-38P
Allen Screws — Tapered Top Polished Chrome same as above 23 Sizes A-38E
Allen Screws — Chrome 8/32, 10/24, 10/32, 1/4- 28 Diameters 24 Sizes A-41
Allen Screws — Polished Chrome same as above 24 Sizes A-41P
Allen Screws — Tapered Top Polished Chrome same as above 24 Sizes A-41E
Allen Screws — Chrome 1/4-20 Diameter 16 Sizes A-40
Allen Screws — Polished Chrome same as above 16 Sizes A-40P
Allen Screws — Tapered Top Polished Chrome same as above 16 Sizes A-40E
Allen Screws — Chrome 5/16 —18 Diameter 12 Sizes A-42
Allen Screws — Polished Chrome same as above 12 Sizes A-42P
Allen Screws — Tapered Top Polished Chrome same as above 12 Sizes A-42E
Allen screws — Chrome 5/16-24 Diameter 12 Sizes A-43
Allen Screws — Polished Chrome same as above 12 Sizes A-43P
Allen Screws — Tapered Top Polished Chrome same as above 12 Sizes A-43E
Allen Screws — Chrome 3/8-16 Diameter 12 Sizes A-44
Allen Screws — Polished Chrome same as above 12 Sizes A-44P
Allen Screws — Tapered Top Polished Chrome same as above 12 Sizes A-44E
Allen Screws — Chrome 3/8-24 Diameter 12 Sizes A-45
Allen Screws — Polished Chrome same as above 12 Sizes A-45P
Allen Screws — Tapered Top Polished Chrome same as above 12 Sizes A-45E
Allen Screws — Chrome 7/16-14 Diameter 11 Sizes A-46
Allen Screws — Polished Chrome same as above 11 Sizes A-46P
Allen Screws — Tapered Top Polished Chrome same as above 11 Sizes A-46E
Allen Screws — Chrome 7/16-20 Diameter 10 Sizes A-47
Allen Screws — Polished Chrome same as above 10 Sizes A-47P
Allen Screws — Tapered Top Polished Chrome same as above 10 Sizes A-47E
Allen Screws — Chrome 1/2-13 Diameter 11 Sizes A-48
Allen Screws — Polished Chrome same as above 11 Sizes A-48P
Allen Screws — Tapered Top Polished Chrome same as above 11 Sizes A-48E
Allen Screws — Chrome 1/2-20 Diameter 10 Sizes A-49
Allen Screws — Polished Chrome same as above 10 Sizes A-49P
Allen Screws — Tapered Top Polished Chrome same as above 10 Sizes A-49E
Allen Screws - Chrome 1/4, 5/16, 3/8 Diameters, Coarse Thread 24 Sizes 24-CA
Allen Screws — Polished Chrome same as above 24 Sizes 24-CAP
Allen Screws — Tapered Top Polished Chrome same as above 24 Sizes 24-CAPE
Allen Screws — Chrome 1/4, 5/16, 3/8 Diameters, Fine Thread 23 Sizes 24-FA
Allen Screws — Polished Chrome same as above 23 Sizes 24-FAP
Allen Screws — Tapered Top Polished Chrome same as above 23 Sizes 24-FAPE
Button Head Allens 8/32, 10/24, 10/32, 1/4-28 Diameters 20 Sizes A-25
Button Head Allens 1/4-20, 5/16-18, 3/8-10 Diameters 24 Sizes A-26
Button Head Allens 5/16-24, 3/8-24. 1/2-13 Diameters 14 Sizes A-27
Flathead Allen Screws 8/32, 10/24, 10/32, 1/4-28 Diameters 24 Sizes A-10

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805

Or visit our website at www.gardner-westcott.com




35

Assortments Cont.

Flex Lock Nuts #10 thru 1/2 Fine & Coarse

Flex Lock Jam Nuts #10 thru 1/2 Fine & Coarse

Flex Lock Nuts & Jam Flex Lock Nuts 1/4-5/8

Hex Caps 1/4, 5/16, 3/8 Coarse

Hex Caps 1/4, 5/16, 3/8 Fine

Hex Caps 7/16, 1/2 Coarse

Hex Caps 7/16, 1/2 Fine

Hex Nuts 6/32 thru 5/8 Coarse & Fine

Hex Nuts, Flat washers & Lock washers 1/4, 5/16, 3/8
Hex Nuts, Flat washers & Lock washers 7/16, 1/2, 5/8
Hole Plugs, Chrome & Brass 3/16 to 1 1/2

Locknuts - #10 thru 5/8 Coarse & Fine

Locknuts Jam & Hex Nuts Jam 1/4 thru 5/8 Fine & Coarse
Low Crown Acorn Nuts 8/32 —5/8-18

Phillips Oval Head MS 4/40 — 3/8-24

Slotted Fillister Head MS 18/24, 6/32, 10/29, 10/32, 12/24, 1/4
Torx Button Head 8/32, 10/24, 10/32, 1/4-20

Torx Button Head 1/4-20, 5/16, 3/8

Spacers 1/4 up ID’s

Spacers 3/8 up ID’s

Washers — Flat & Lock — STD #8 —5/8

Washers — Heat Treated (GW) & Locks #8 —5/8
Washers — Heat Treated (GW) & AN Flats #6-5/8
Washer Internal, External & AN #6 —5/8

12 Point Screws 1/4-20

12 Point Screws 1/4-28

12 Point Screws 1/4, 5/16, 3/8 Coarse

12 Point Screws 1/4, 5/16, 3/8 Fine

12 Point Screws 5/16-18

12 Point Screws 5/16-24

12 Point Screws 3/8-16

12 Point Screws 3/8-24

12 Point Screws 7/16-14 & 7/16-20

Trays

12 Sizes
12 Sizes
24 Sizes
24 Sizes
24 Sizes
11 Sizes
12 Sizes
16 Sizes
12 Sizes
12 Sizes
16 Sizes
11 Sizes
24 Sizes
15 Sizes
24 Sizes
24 Sizes
24 Sizes
24 Sizes
16 Sizes
12 Sizes
16 Sizes
16 Sizes
21 Sizes
22 Sizes
16 Sizes
20 Sizes
24 Sizes
24 Sizes
12 Sizes
12 Sizes
12 Sizes
12 Sizes
16 Sizes

A-11
A-12
A-19
24C
24F
23C
23F
A-30
12w
23W
A-76
A-8
A-14
A-148
A-175
A-179
A-180
A-181
A-15
A-16
A-31
A-29
A-160
A-33
A-240
A-241
A-24C
A-24F
A-242
A-243
A-244
A-245
A-247

Dimensions of 6 Drawer Rack are

Small Scoop Compartment Rack & Trays
Description Part #

6 Drawer Rack T-6

12 Compartment Tray T-12

16 Compartment Tray T-16
20 Compartment Tray T-20
24 Compartment Tray T-24

Large Scoop Compartment Rack & Trays

Description Part #
4 Drawer Rack TL-4
12 Compartment Tray TL-12
16 Compartment Tray TL-16
20 Compartment Tray TL-20
24 Compartment Tray TL-24
32 Compartment Tray TL-32

-

15 ¥" Wide, 16 3/8” High 11 3/4

Dimensions of 4 Drawer Rack are
20 ¥2" Wide, 15" High 12 1/2 “ Deep

-

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110

Email: sales@gardner-westcott.com




36

Product Display Units

A simple, organized and easy way to showcase your chrome plated fasteners.

P Increased Product Visibility

P Designed to contain popular sizes most sought after by automotive enthusiasts
P Allows wider range of products to be displayed

# Product is identified with size, quantity & price

P Simple to stock and re-order

Unit 1 Contains popular sizes of the following products:
Hex Nuts
Hex Caps
Button Head Allen Screws
Nylon Insert Locknut
Carriage Bolts (skin packaged to include Hex Nuts)
Super Washers

Unit 2 Contains popular sizes of the following products:
Flatwashers
Lockwashers
Small OD Flatwashers
Shock Washers
Throttle Return Springs
Body Bolts
Hex SEMS Screws
Spinloc Bolts
Pipe Plugs
Oval Slotted Machine Screws
Oval Phillips Machine Screws
Oval Phillips Sheet Metal Screws

Purchase our product display units and watch these carded fastener kits fly out of your store. You'll
be happy with the response you receive. Your customers will appreciate the clear, clean and
convenient packaging. Counter top display units are also available.

Give us acall for further details on this hot new item.

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




37

Electrical Terminals

EE [16-14 T.180 [Blue [62A24 |
Vinyl Insulate =©

Vinyl Insulated Snap Plug

A I L T

- ed | 62111 62211
2218 |6 Red | 62112 62212 22-18 | 156 Red |62713
2218 |8 Red | 62113 62213 2218 |.180 Red 62714 =
2218 |10 Red | 62114 62014 16-14 |.156 Blue | 62723
P ET IR Red 162115 16-14 |.180 Blue | 62724
5518 15/16 Red 60116 12-10 |.156 Yellow | 62733
22-18 | 3/8 Red | 62117
16-14 |4 Blue | 62121 62221 . . .
1614 |6 Blue 62122 62277 Vinyl Insulated Female Quick Slide
1614 [8 Bl |Ga133 o023
16-14 |10 Blue 62124 62224 2218 |.250 Red 62415
1614 [ 1/4 Blue | 62125 62005 614 [ 187 Blue (62414 -%
16-14 |5/16 Blue 62126 62226 16-14 | .250 Blue 62425
16-14 |3/8 Blue | 62127 12-10 |.250 Yelow | 62435
12-10 | 4 Yellow | 62131 62231
12-10 |6 Yellow | 62132 62232
12-10 |8 Yelow | 62133 62233 : : ;
516115 S T3 Vinyl Insulated Male Quick Slide
1210 |14 Yellow | 62135 62735
12-10 | 5/16 Yellow | 62136 22-18 [.250 Red |62515
12-10 [ 3/8 Yellow | 62137 16-14 | 187 Blue | 62524 -::ID
12-10 | 7/16 Yellow | 62138 16-14 | .250 Blue | 62525
12-10 | 1/2 Yellow | 62139 12-10 .250 Yellow | 62535

Vinyl Insulated Male/Female Quick Slide
Electrical Connectors Gauge  Stud Size | Color Part #

. 16-14 |.187 Blue | 62624
Vinyl Insulated Butt Connectors

Gauge | Color Part# -gj
22-18 | Red 62310 -
16-14

Blue 62320
12-10 | Yellow | 62330

4-Way Connector Vinyl Insulated

Gauge Color | Part #
Non Insulated Butt Connectors AR R e
 Gauge | Color Part # | 16-14 |Blue |62C20
22-16 | N/A_ [62316 12-10_| Yellow | 62C30
1614 |NA |62326 ——

12-10 |N/A 62336

. 3-Way Connector Vinyl Insulated
Scotchlok Inline Connectors

Gauge | Color  Part # 22-18 | Red 62B10
14-18 | Blue 62920 16-14 | Blue 62B20
12-10 | Yellow | 62930 12-10 | Yellow | 62B30
@n

Ranger Electrical Spring Connectors

Gauge | Color  Part # Flag Ring Terminals
18-12 | Yellow | 62D40 E}l Gauge Stud Size Part #
16-10 |Red | 62D50 22-18 |6 62J12
22-18 |8 62313
Nylon Insulated Snap Plug Receptacles 22-18 |10 62J14
: 1614 |6 62322
Gauge | Stud Size Color  Part# | 614 8 62123
2218 [.156 Red [62A13 | | 1614 10 62324
22-18 | .180 Red | 62A14
16-14 |.156 Blue | 62A23

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




38

Electrical Cont.

Electrical Wire

Offering 12 solid colors! Copper stranded thermal plastic
insulated wire. Highly resistant to grease, oil and acids.
Individual wire in 100-foot spools.

Color 18 Gauge # | 16 Gauge # 14 Gauge #

Black 6218 6216 6214
Red 6216 6214
Brown |6218 6216 6214
Blue 6218 6216 6214
Gray 6218 6216
Green 6218 6216
Orange | 6218 6216
Pink 6218 6216
Purple |6218 6216
Tan 6218 6216
White 6218 6216
Yelow | 6218 6216 6214

Electrical Wire Assortments

Assortment #62-W

Includes 8 different colors and metal spool rack: 14 gauge
black, 16 gauge red and white, 18 gauge blue, green, orange,
yellow and tan.

Assortment #63-W
Includes all 12 colors and metal spool rack.

Clamps
Black Cable Ties (10 per bag)

IS O |

57/8 62001
7 15/16 | 62002

Hose Clamps - Stainless Steel
Entire clamp is stainless - including the screw.

Tubing

Heat Shrink Tubing
For color coding terminal ends. Sold in 10 piece packs.

Gauge | Color Part#

12-10 | White | 62993
16-14 | Red 62990
20-16 | Yellow [ 62994

Fabric Loom

Woven cotton loom with black bituminous coating. Sold
in 1-inch pieces, 1-foot increments.

Part# Inside Diameter |
62701 | 3/16

62702 | 1/4

62703 | 5/16

62704 | 3/8

62705 | 7/16

62706 | 172

Heat Shrink Tubing - Bulk

Sold by the foot.

Part # Inside Diameter |
62004 | 3/16

62005 | 1/4

62007 | 3/8

62010 | 1/2

Tools

Balldrivers

Balldriver L-Wrench sets feature the patented Bondhex case.
Wrenches slip easily into marked slot and lock securely in
place.

L-Wrenches

67014 (3 5/16 - 5/8
67017 (4 7116 - 3/4
67020 |6 1/2-7/8
67024 |8 5/8-11/16
67N10 [Flexible Screwdriver 10"

Line Clamps - Stainless Steel

Part # | Size

67003

3/16

67004

1/4

67005

5/16

67006

3/8

Part # Size Quantity

K'-10937

.050 thru 3/8

13

K- 10999

1.5thru 10mm

9

Bondhus Balldriver

Part # Size Quantity
K - 10637 | .050 thru 3/8 13
K-10699 [1.5thrul0mm |13

=44

67002 | 14 x 3/4 Dirill Point
Sheet Metal Screw,
Stainless Steel

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




39

Insert Bits

Allen Screw Insert Bits are for hand and power tools. Power
bits fit into standard 1/4 bit holders. (See #T-30100 and #T-
77010)

Allen Screw Insert Bit Inch Size

Part # Bit Size Screw Cap Size Set
8

K - 24004 | 5/64 2-3
K -24008 | 3/32 4-5 10
K-24012 | 1/8 1/4
K -24040 | 7/64 6

K -24044 | 9/64 8 Lol SR
K - 24016 | 5/32 10 5/16

K -24020 | 3/16 1/4 3/8

K -24024 | 7/32 7/16

K-24028 | 1/4 5/16 1/2

K -24032 | 5/16 3/8 5/8

K - 24036 | 3/8 7/16-1/2 3/4

Allen Screw Insert Bit Metric Sizes

Part # Bit Size Screw Cap Size Set

K -24048 | 2m - 4am

K -24052 | 3m 4m 6m

K -24056 |4m 5m 8m

K -24060 | 5m 6m 10m

K -24064 | 6m 8m 12-14m
K -24068 | 8m 10m 16m

Torx 1/4" Hex Insert Bits

Torx Insert Bits are for use in Torx Head Screws. Bits fit into standard

1/4 bit holders (see #T-30104, #T-30100 and #T-77010). Individual
bits.

Part # | Size

K-TX10310 |T-10

K-TX10315 |[T-15 ]
K-TX10320 |[T-20 ]
K-TX10325 [ T-25

K- TX10330 |T-30
K- TX10340 | T-40

Wrench Sets
T-Handle

Description

T-Handle Wrench Set. Each
wrench has chamfered ends,
heavy duty steel grip handles,
covered with vinyl cushion grip.
6" long. Includes metal stand.

K-10T

Insert Bit Holder

Description

Hand Driver Insert Bit Holder.
Holds all insert bits. Magnetized.
Overall length 9 1/2".

T-77010

Ratchet Drive Sockets

These standard sockets hold the Allen or Torx insert bits listed. They
are to be used with any standard 1/4" or 3/8" drive ratchets.

Description Part# |

1/4 Ratchet Drive holds 1/4" bits. | T - 30100
3/8 Ratchet Drive holds 1/4" bits. | T - 30104
3/8 Ratchet Drive holds 5/16” T - 30108
bits.

Nutserts

Nutserts are of a one-piece design consisting of a nut portion and a
sleeve portion. The nutsert is threaded onto the placing tool's mandrel
and inserted into a drilled hole. The rotating tool mandrel exerts a
pulling action which "breaks" the nut portion from the sleeve, drawing it
into the sleeve. notice the sleeve dose not expand. The nut portion

fully expands the sleeve, which exerts a full 36005wag fit against the
side of the hole. and you now have a permanent load bearing steel
captive nut ready for use.

*Non-grip sensitive-one length fits "any" thickness over.030
*Blind-installs from one side of the walk
*Will not torque loose

*Use in almost any material; steel, aluminum, fiberglass, castiron, and
plastics

*Vibration proof

*Nearly flush only .015 protrusion. Installation will not mar the parent
material

Here's how the AT Series insert works:

——] Tt i T i
ANIAL ENUAL e} -

! ) EREAK
¥ - i

ARER

MUT _ :I 4 =2
PORTION  — =

BLEFVE -

Nutsert Specifications

Thread Hole Min Hole

Size Size Depth

4/40, 3mm 3/16 .390

6/32 7132 .390

8/32, 4mm 1/4 .390

10/32,10/24,5mm  9/32 .390

1/4, 6mm 3/8 .535

5/16’ 8mm 1/2 635 A MEE D e AR
3/8, 10mm 9/16 .760

Size Tool Nutsert
Part # Part #
4/40 N9536 N4536
6/32 N9538 N4538
8/32 N9540 N4540
10/24 N9542 N4542
10/32 N9543 N4543
1/4-20 N9546 N4546
1/4-28 N9547 N4547
5/16-18 N9548 N4548
5/16-24 N9549 N4549
3/8-16 N9550 N4550
3/8-24 N9551 N4551
m3x05 N9949 N4949 Handyman Tool
m4 x 0.7 N9950 N4950
m5x 0.8 N9952 N4952
m6 x 1.0 N9954 N4954
m8 x 1.25 N9958 N4958
ml0x 1.5 N9962 N4962

Nutsert Kit (46 Pieces) Part # N312D
15ea. 10/32, 15ea. 1/4-20, 8ea. 5/16-18 & 8ea. 3/8-16
Includes Handyman Tool.

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




40

Lug Nuts, Chrome Plated

One Piece Acorn Lug e

Size Part # r \

7/16 RH L-1002 [

1/2 RH L-1004 k |4
A 1

Two Piece Acorn Lug

Size Part # e 816" =

7/16 RH L-1202 Ex

1/2 RH L-1204 T 7~

1/2LH L-1205 of

12mm 1.25 L-1206 =

12mm 1.50 L-1207 L R

12mm 1.75 L-1212 " W

14mm 1.50 L-1209

Open End Acorn Lug

Size Part # _

7/16 RH L-1302 o |
1/2RH L-1304 :

12mm 1.25 L-1306 . Mo
12mm 1.50 L-1308 ;" @_ i
14mm 1.50 L-1309

Open End Acorn Bulge

Size Hex Size Part #
7/16RH 13/16 1-1302-1
7/16RH 3/4 L-1302-S 1 3187
1/2 RH 13/16 L-1304-1
1/2 RH 3/4 -1304S T
12mm1.25 13/16 L-1306-1 o L.::) .
12mm1.25 3/4 L-1306-S Ay vl
12mm 1.50 13/16 L-1307-1 +——>—+ 1t
12mm 150 3/4 -1307-S
12mm1.75 13/16  L-1312-1
12mm 175 3/4 L-1312-S
14mm 150 13/16  L-1309-1
14mm 150 3/4 L-1309-S
Bulge Acorn Lug
Size Hex Size Part #
7/16RH L-1702
7/16RH 3/4 L-1702-S »
1/2RH L-1704 =8
1/2RH 3/4  L-1704S HE
12mm1.25 L-1706 |
12mm1.25 3/4 L-1706-S
12mm1.50 L-1707 W
12mm1.50 3/4 L-1707-S
12mm1.75 L-1712
12mm1.75 3/4 L-1712-S
14mm1.50 L-1709
14mm1.50 3/4 L-1709-S
Short Shank Lug -
Size Part # [ a1
7/16 RH L-1640 7
1/2 RH L-1641
12mm 1.25 L-1644
12mm 1.50 L-1645 g

i 5 I'..

Duplex Steel Lug

Size Part #
7/16RH L-3002
1/2RH L-3004
14mm 1.50 L-3009
9/16 RH L-3010
9/16 LH L-3020
5/8 RH L-3030
5/8 LH L-3040

XL Duplex Steel Lug

Size Part #
12 RH L-3204
14mm L-3209
9/16 RH L-3210
9/16 LH L-3220

Dome Short Shank Lug

Size Part #
7/16 RH L-5002
1/2RH L-5004
12mm 1.25 L-5006
12mm 1.50 L-5007

Short Two Piece Lug

Size Part #
7/16 RH L-5202

12 RH L-5204

12mm 1.25 L-5206

12mm 1.50 L-5207

ET Conical Lug

Size Part #
7/16RH L-7602

1/2RH L-7604

12mm 1.25 L-7606

12mm 1.50 L-7607

12mm 1.75 L-7612

ET Conical Long Lug

Size Part #
7/16RH L-7602L
1/2RH L-7604L
12mm 1.25 L-7606L
12mm 1.50 L-7607L

ET Conical Open End Lug

Size Part #

7/16RH L-7602-1
1/2RH L-7604-1
12mm 1.25 L-7606-1
12mm 1.50 L-7607-1
12mm 1.75 L*7612-1

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




41

Lug Nuts, Cont.

Medium Mag Lug

Size Part #
7/16 RH L-4002
1/2 RH L-4004
12mm 1.25 L-4006
12mm 1.50 L-4007

AP/ET Step Mag Lug

Size Part #
7/16RH L-7502
1/2RH L-7504
1/2LH L-7505
12mm 1.25 L-7506
12mm 1.50 L-7507

Dome Standard Mag Lug

Size Part #
7/16RH L-8102
1/2RH L-8104
12mm 1.25 L-8106
12mm 1.50 L-8107

Standard Mag One Pc.Lug

Size Part #
7/16 RH L-1740
1/2RH L-1741
12mm 1.25 L-1744
12mm 1.50 L-1745

Standard Mag Two Pc. Lug

Size Part #
7/16RH L-8202

1/2RH L-8204

1/2LH L-8205

12mm 1.25 L-8206

12mm 1.50 L-8207

Long Mag Lug

Size Part #
7/16RH L-8502

1/2RH L-8504

1/2LH L-8505

12mm 1.25 L-8506

12mm 1.50 L-8507

Extended Mag Lug

Size Part #
7/16RH L-8802
1/2RH L-8804
1/2LH L-8805
12mm 1.25 L-8806
12mm 1.50 L-8807

-

XL Mag Lug

Size Part #
7/16RH L-8852
1/2RH L-8854
1/2LH L-8855
12mm 1.25 L-8856
12mm 1.50 L-8857
14mm 1.50 L-8859

XL Mag Open End Lug

Size Part #

7/16RH L-8852-1
1/2RH L-8854-1
12mm 1.25 L-8856-1
12mm 1.50 L-8857-1
14mm 1.50 L-8859-1

Duplex Mag Lug

Size Part #
7/16RH L-9002
1/2RH L-9004
14mm 1.50 L-9009
9/16RH L-9010
9/16LH L-9020
5/8RH L-9030
5/8LH L-9040

XL Duplex Mag Lug

Size Part #
1/2RH L-9204
14mm 1.50 L-9209
9/16RH L-9210
9/16LH L-9220

Acorn Wheel Lock

Size Part #
7/16RH L-40205
1/2RH L-40405
12mm 1.25 L-40605
12mm 1.50 L-40705
14mm 1.50 L-40905

Duplex Acorn Wheel Lock

Size Part #
1/2RH L-40435
14mm 1.50 L-40935
9/16RH L-41035

Mag Wheel Lock

Size Part #
7/16RH L-42205
1/2RH L-42405
12mm 1.25 L-42605
12mm 1.50 L-42705

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




42

Lug Nuts, Cont.

Duplex Mag Wheel Lock L Lug Washers

Size Part # [olH Thread Part #

9/16RH L-41095 [T 1/16 Standard Mag L-771

1/2RH L-42495 b — Duplex Mag L-773

14mm 1.50 L-42995 Short Shank L-774
Keystone Mag Off Center L-777 r
Keystone Mag Center L-778
Crager Mag Center L-779
Crager Mag Off Center L-780
ET Flat Center L-781

XL Mag Wheel Lock . ET Flat Off Center L-782

; ET Conical Center L-785

2lze_ Part # : {_ l ET Conical Off Center L-786

1/2RH L-46405 iz | R

12mm 1.25 L-46605 L |

12mm 1.50 L-46705 N

Short Shank Wheel Lock

. T A —
Size Part # |
7/16RH L-44205 |
1/2RH L-44405 3 _

12mm 1.25 L-44605 i
12mm 1.50 L-44705 b 56—

Open End Wheel Lock

Size Part #

7/16RH L-50205 i

1/2RH L-50405 .
12mm 1.25 L-50605 el ! s
12mm 1.50 L-50705 | .t .
14mm 1.50 L-50905 )

Acorn Lug N Lock Kit

Size Part #

7/116 L-771002
1/2 L-771004
12mm 1.25 L-771006
12mm 1.50 L-771007
14mm 1.50 L-771009

Mag Lug N Lock Kit

Size Part #

7/116 L-778102
1/2 L-778104
12mm 1.25 L-778106
12mm 1.50 L-778107

|
2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




43

Fittings Section

Inside This Section

Pipe Fittings 44
Inverted Flare 45-46
Compression Fittings 47
Air Line Fittings 48
Drain Cocks 48
Grease Fittings 48
Vacuum Connectors 48

|
10110 Six Mile Road, Northville, MI. 48167

Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




44

Pipe Fittings

Straight Hose Barb - Male Pipe Rigid

1/8x1/8 | 90TD-6X2 7-90TD-6X2 -
1/4x1/8 | 90TD-4X2 7-90TD-4X2 ! ]
3/8x1/4 | 90TD-6X4 7-90TD-6X4

Straight Hose Barb - Male Pipe

3/16x 1/8 | 90HB-3X2 | 7-90HB-3X2
1/4x1/8 | 90HB-4X2 | 7-90HB-4X2 N
14x1/4 | 90HB-4X4 | 7-00HB-4X4 _,-,,-:::(-!-m
5/16x 1/8 | 90HB-5X2 | 7-90HB-5X2 ——

5/16 x /4 | 90HB-5X4 7-90HB-5X4 753 “"'—m:
3/8x1/8 | 90HB-6X2 | 7-90HB-6X2

3/8x1/4 | 90HB-6X4 | 7-90HB-6X4

90 Deg Hose Barb - Male Pipe

Hex Head Pipe Plug

1/8 121PP-2 7-121PP-2
1/4 121PP-4 7-121PP-4
3/8 121PP-6 7-121PP-6
1/2 121PP-8 7-121PP-8

Square Head Pipe Plug

1/8 109PP-2 | 7-109PP-2 |"|| i

174 109PP-4___ | 7-109PP-4 I

378 109PP-6___ | 7-109PP-6

2 100PP-8___ | 7-109PP-8

Close Nipple

Pipe Size Brass Part# Chrome Part# L.
1/8 112PCN-2 [ 7-112PCN-2 ’ ; H
174 112PCN-4__| 7-112PCN-4 M
378 112PCN-6__| 7-112PCN-6

Long Nipple

Pipe/Length Brass Part # Chrome Part #

Street Elbow

Pipe Size Brass Part# Chrome Part#

1/8 116PSE-2 7-116PSE-2
1/4 116PSE-4 7-116PSE-4
3/8 116PSE-6 7-116PSE-6

— T
Eu,:
L

1/4x1/8 | 91HB-AX2 | 7-9THB-4X2
T4x1/4 | 9IHB-4%4 | 7-91HB-4%4

56X 18 |9INB5X2 | 7-91HB-5X2 ::;r
S/6x1/4 |91HB5X4 | 7-91HB-5X4 e 1
3/BX1E8 |91HB-6X2 | 7-01HB-6X2 e
3Bx1/4 [9IHB-6Xd | 7-91HB-6X4 iE 3
3/8x3/8 | 91HB-6X6 7-91HB-6X6 H

| Hilis

| sanaed

Street Elbow 45 Degree

1/8 124PSE-2 7-124PSE-2
1/4 124PSE-4 7-124PSE-4
3/8 124PSE-6 7-124PSE-6

Socket Pipe Plug
T
||.|||||&|

1/8 107CSP-2 | 7-107CSP-2 i
14 107CSP-4__|7-107CSP-4
38 107CSP-6_ | 7-107CSP-6

Slotted Pipe Plug

1/8 117SPP-2 7-117SPP-2
1/4 117SPP-4 7-117SPP-4
3/8 117SPP-6 7-117SPP-6

1/8x11/2 113PLN-2X1.5 | 7-113PLN-2X1.5

1/8x2 113PLN-2X2 7-113PLN-2X2

1/8x21/2 113PLN-2X2.5 | 7-113PLN-2X2.5

1/8x3 113PLN-2X3 7-113PLN-2X3 e
1/4x11/2 113PLN-4X1.5 | 7-113PLN-4X1.5 Iu FlH'J | l
14x2 1I3PLN-4X2 | 7-113PLNFAX2 “Hm“
1/4x21/2 113PLN-4X2.5 | 7-113PLN-4X2.5

1/4x3 113PLN-4X3 7-113PLN-4X3

3/8x11/2 113PLN-6X1.5 | 7-113PLN-6X1.5

3/8x2 113PLN-6X2 7-113PLN-6X2

Hex Nipple

1/8 122PHN-2 7-122PHN-2

1/4 122PHN-4 7-122PHN-4

3/8 122PHN-6 7-122PHN-6

Hex Reducing Nipple

Pipe Size Brass Part# ChromePart#

1/4x1/8 | 123PRN-4X2 |7-123PRN-4X2
3/8x1/4 | 123PRN-6X4 |7-123PRN-6X4
Adapter

Pipe Size Brass Part# Chrome Part#
1/8x1/8 [ 120PA-2X2 | 7-120PA-2X2
1/4x1/8 [ 120PA-4X2 | 7-120PA-4X2
1/4x1/4 [ 120PA-4X4 | 7-120PA-4X4
3/8x1/4 | 120PA-6X4 | 7-120PA-6X4

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




45

Pipe Fittings Cont.

Pipe Bushing

1/4x1/8 110PB-4X2 7-110PB-4X2
3/8x1/8 110PB-6X2 7-110PB-6X2
3/8x1/4 110PB-6X4 7-110PB-6X4
1/2x1/4 110PB-8X4 7-110PB-8X4
1/2x3/8 110PB-8X6 7-110PB-8X6

Pipe Thread Locknut

1/8 111PLN-2 | 7-111PLN-2
1/4 111PLN-4 |7-111PLN-4
3/8 111PLN-6 | 7-111PLN-6
Pipe Coupling

Pipe Size Brass Part# Chrome Part#
1/8 103PC-2 7-103PC-2

1/4 103PC-4 7-103PC-4

3/8 103PC-6 7-103PC-6
Pipe Tee

Pipe Size Brass Part # Chrome Part #
1/8 101PT-2 7-101PT-2

1/4 101PT-4 7-101PT-4

3/8 101PT-6 7-101PT-6
Street Tee

Pipe Size Brass Part# Chrome Part #
1/8 127PT-2 7-127PT-2

1/4 127PT-4 7-127PT-4

3/8 127PT-6 7-127PT-6

Straight Heater Hose Barb

5/8x3/8 68HHB-10X6 | 7-68HHB-10X6
5/8x1/2 68HHB-10X8 | 7-68HHB-10X8
3/4x1/2 68HHB-12X8 | 7-68HHB-12X8
3/8x3/8 68HHB-6X6 | 7-68HHB-6X6
1/2x3/8 68HHB-8X6 | 7-68HHB-8X6

i

gy

45 Degree Heater Hose Barb (Steel)
Hose/Pipe Brass Part #

5/8 x1/2

74HHB-10X8

Chrome Part #
7-74HHB-10X8

90 Degree Heater Hose Barb

Hose/Pipe Brass Part # Chrome Part #

5/8 x 3/8 69HHB-10X6 7-69HHB-10X6
5/8x1/2 69HHB-10X8 7-69HHB-10X8
3/4x1/2 69HHB-12X8 7-69HHB-12X8
3/8x 3/8 69HHB-6X6 7-69HHB-6X6
1/2x3/8 69HHB-8X6 7-69HHB-8X6

i —
(3

I

-

Inverted Flare Fittings

Inverted Flare Tube Nut (Brass)

O.D. Tube Brass Part# Chrome Part#

3/16 41INB-3 7-41INB-3

1/4 41INB-4 7-41INB-4 m
5/16 41INB-5 7-41INB-5

3/8 41INB-6 7-41INB-6

Inverted Flare Long Tube Nut (Steel)

3/16

41INL-3

7-41INL-3

1/4

41INL-4

7-41INL-4

Inverted Flare Male Connectors
O.D. Tube\Pipe Brass Part# Chrome Part#

3/16 x 1/8 48IC-3X2 7-48IC-3X2
1/4x1/8 48IC-4X2 7-48IC-4X2
5/16 x 1/8 48IC-5X2 7-48IC-5X2
5/16 x 1/4 48IC-5X4 7-48IC-5X4
3/8x1/8 48IC-6X2 7-48IC-6X2
3/8x1/4 48IC-6X4 7-48IC-6X4

Inverted Flare Male Elbow

3/16 x 1/8 49IE-3X2 7-49IE-3X2
1/4x 1/8 49IE-4X2 7-49IE-4X2
5/16 x 1/8 49IE-5X2 7-49IE-5X2
5/16 x 1/4 49IE-5X4 7-49IE-5X4
3/8x1/8 49IE-6X2 7-49IE-6X2
3/8x1/4 49|E-6X4 7-49IE-6X4

Inverted Male Rigid Hose Barb

14 x1/4 O3HB-4X4 | 7-93HB-4X4

1/4x5/16 O3HB-4X5 | 7-93HB-4X5

5716 x 1/4 93HB-5X4 7-93HB-5X4 %{UHD:
5/16 x 5/16 93HB-5X5 | 7-93HB-5X5 Rl

5716 x 3/8 O3HB-5X6 | 7-93HB-5X6

3/8x5/16 O3HB-6X5 | 7-93HB-6X5

Inverted Flare Reducing Nut

O.D. Tube\inv Nut Brass Part# Chrome Part #

3/16 x 1/4 41INR-3X4 7-41INR-3X4

3/16 x 5/16 41INR-3X5 7-41INR-3X5 |m
3/16 x 9/16 41INR-3X(918 | 7-41INR-3X(918

1/4x9/16 41INR-4X9/16 | 7-41INR-4X9/16

Steel Inverted Flare Nut

3/16 41INS-3 7-41INS-3 |

1/4 41INS-4 7-41INS-4 ;.‘]ﬁml
5/16 41INS-5 7-41INS-5 l

3/8 41INS-6 7-41INS-6

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110

Email: sales@qgardner-westcott.com




46

Inverted Flare Cont.

Inverted Flare Steel Plug

O.D. Tube Steel Part# ChromePart#

3/16 W131-3 7-W131-3
1/4 W131-4 7-W131-4
5/16 W131-5 7-W131-5
3/8 W131-6 7-W131-6

Inverted Flare Union Tee
O.D. Tube Brass Part# ChromePart# &3
3/16 W702-3 7-W702-3 'ig e
1/4 W702-4 7-\W702-4 :

5/16 W7025 7-W702-5

Inverted Flare Brake Line Union

3/16 421U-3 7-421U-3
1/4 42IU-4 7-42IU-4
5/16 42IU-5 7-42IU-5
3/8 42IU-6 7-42IU-6

Brake Line Tee With Mount -Inverted Flare

3/16 W7812 7-W7812
1/4 WT7765 7-WT7765

Inverted Flare Tee - Male Pipe on Branch

3/16 W600-3X2 | 7-W600-3X2
1/4 W600-4X2 | 7-W600-4X2
5/16 W600-5X2 | 7-W600-5X2
3/8 W600-6X4 | 7-W600-6X4

Steel Brake Line Coil

Size Part #
3/16 64542
1/4 64546
5/16 64548
3/8 64550

Towed Trailer Brake Tee Inverted Flare

A B Brass Chrome
Inverted Seat Inverted Male Part# Part #
Seat Thread

3/16 3/16 1/4 6497IT-7914 | 7-97IT-7914
3/16 (1/2-20) | 3/16 [1/2-20 6497IT-7906 | 7-97IT-7906
3/16 (9/16-18) | 3/16 | 3/16 (9/16-18) | 6497IT-7933 | 7-97IT-7933
3/16 (9/16-20) | 3/16 [ 3/16 (9/16-20) | 6497IT-7905 | 7-97IT-7905
3/16 3/16 |3/16 6497IT-7900 | 7-97IT-7900
3/16 1/4 3/16 6497IT-7899 [ 7-97IT-7899
1/4 (9/16-18) 3/16 |1/4 (9/16-18) | 6497IT-7904 | 7-97IT-7904
1/4 3/16 |[1/4 6497IT-7901 | 7-97IT-7901
1/4 3/16 |1/4pipe 6497IT-7902 | 7-97IT-7902
1/4 1/4 1/4 6497IT-7898 | 7-97IT-7898
Dual Brake Reducing Adapter

»

Seal on Hex Face
Inverted Female / Inverted Male  Brass Chrome
Part # Part #

3/16 x 1/4 64203-3X4 7-203-3X4
3/16 x 5/16 64203-3X5 7-203-3X5
1/4x 3/16 64203-4X3 7-203-4X3
1/4x5/16 64203-4X5 7-203-4X5
5/16 x 1/4 64203-5X4 7-203-5X4
5/16 x 3/8 64203-5X6 7-203-5X6
3/8x5/16 64203-6X5 7-203-6X5
1/4 x 1/4 (9/16-18) 64203-7908 7-203-7908
3/16 x 3/16 (9/16-20) 64203-7910 7-203-7910
3/16 x 3/16 (9/16-18) 64203-7911 7-203-7911
3/16 (9/16-18) x 5/16 64203-7912 7-203-7912
3/16 (1/2-20) x 3/16 (9/16-18) 64203-7913 7-203-7913
5/16 x5/16 wiseal 64203F1074 | 7-203F1074
1/4 x5/16 w/seal 642037727 | 7-203F7727
1/4 x7/16-20 w/seal 64203F~7732 | 7-203F7732
3/16 x5/16 wi/seal 642037817 |7-203F7817
Metric Brake Line Adapter
Inverted Female x Male Bubble  Brass Chrome
Flare Part # Part #
3/16 std x 3/16 std 200B-3 7-200B-3
3/16 std xm10x1.0 200MB-3 | 7-200MB-3
Inverted Female x Male Thread
3/16 std x m10x1.0 202M-10 | 7-202M-10
m10x1.0 x m11x1.5 202M-11 | 7-202M-11
m10x1.0 x m12x1.0 202M-12 | 7-202M-12
m210x1.0 x m13x1.5 202M-13 | 7-202M-13

2001© Copyright Gardner-Westcott Company
To place an order call us toll free at 1-800-521-9805
Or visit our website at www.gardner-westcott.com




47

Compression Fittings

Compression Nut Compression Tube
Inserts (Brass)
1/8 61CN-2 7-61CN-2 \
3716 61CN-3 7-61CN-3 1/8 60TI-2
1/4 61CN-4 7-61CN-4 g 3/16 60TI-3
5/16 61CN-5 7-61CN-5 1/4 60TI-4
3/8 61CN-6 7-61CN-6 5/16 60TI-5
3/8 60TI-6

Compression Male Connector

1/8x1/8 | 68CC-2X2 | 7-68CC-2X2 . .

316X U8 | 68CC-3X2 | 7-68CC-3X2 Compression Full Union

T/4X1/6_| 63CC-4X2 | 7-680C-4X2 _

1/4Ax1J4 | 68CC-4X4 | 7-68CC-4X4 7 1/8 62CU-2 7-62CU-2

5/16x 1/8 | 68CC-5X2 | 7-68CC-5X2 % 3/16 62CU-3 7-62CU-3 M

516 x 4| 68CC-5x4 | 7-68CC-5X4 / 174 62CU-4 7-62CU-4 i .'_5[:

3/8x1/8 68CC-6X2 7-68CC-6X2 5/16 62CU-5 7-62CU-5 —h e

3/8x1/4 68CC-6X4 7-68CC-6X4 3/8 62CU-6 7-62CU-6

3/8x3/8 | 68CC-6X6 | 7-68CC-6X6

Compression Male Elbow .
compression 3-\ay Tee

1/8x1/8 | 69CE-2X2 | 7-69CE-2X2

316X 1/8 | 60CE-3X2 | 7-69CE-3X2 1/8 64CT-2 7-64CT-2

1/4x1/8 | 69CE-4X2 | 7-69CE-4X2 3/16 64CT-3 7-64CT-3

1/4x1J4 | 69CE-4X4 | 7-69CE-4X4 1/4 64CT-4 7-64CT-4

516X 1/8 | 60CE-5X2 | 7-69CE-5X2 5/16 64CT-5 7-64CT-5

516 x /4 | 6OCE-5X4 | 7-69CE-5X4 3/8 64CT-6 7-64CT-6

3/8X1/8 | 6OCE-6X2 | 7-69CE-6X2

3/8x 1/4 | 6OCE-6X4 | 7-6OCE-6X4

3/8x3/8 | 69CE-6X6 | 7-69CE-6X6 Compression Female Connector

. O.D. Tube Brass Part # Chrome Part #

Compression Sleeve (Brass) 1/8x1/8 | B6CFC-2X2 | 7-86CFC-2X2 Hoi _
316X 18 | 66CFC3X2 | 7-66CFC3X2 | |

1/8 6460CS-2 1/4x1/8 | 66CFC-4X2 | 7-66CFC-4X2

3/16 6460CS-3 ” f 14X 14| 66CFC-4X4 | 7-66CFC-4X4

174 6460CS-4 —

5/16 6460CS-5 ‘'

3/8 6460CS-6

Special Fittings

.

Transmission Adapter L E D . Hose Tee .

Inv Flare Str Pipe Brass Part# Chrome Part # -- l o ! E j:k.ﬂ

5/16 x 1/8 22CF-5X2 | 7-22CF-5X2 L e 1/4 | 94HBT-4 7-94HBT-4 '

5/16 | 94HBT-5 7-94HBT-5 F

3/16 X 3/16 | 92HB-3X3 | 7-92HB-3X3

14Ax1/4 | 92HB-4X4 | 7-92HB-4X4 e —]

5/16 X 5/16 | 92HB-5X5 | 7-92HB-5X5 ———————— s

3/8x3/8 | 92HB-6X6 | 7-92HB-6X6 Trans mission Adapter

(41/2inlong)

Metric Brake Union 5/16 x 5/16 23CF-5X5 | 7-23CF-5X5 L
—_— SEEDE ITECERR 1

3/16 Std/Bubble 3| 300B-3 7-300B-3 o (\3

m10x1.0/Standard | 300MF3 7-300MF3 E:n:

M10XL.0/Bubble 2 | 300MB-3__| 7-300MB-3 -

10110 Six Mile Road, Northville, MI. 48167
Phone: 248-305-5100 Fax: 248-305-5110
Email: sales@gardner-westcott.com




48

Air Line Fittings
Air Quick Couplers

Socket Coupling

Size Part #
1/4 Female Pipe [ 20AC

Steel Male Insert
Size Part #
1/4 Male Pipe | 21AC

Female - Insert, Steel -
Size Part #
1/4 Female Pipe | 6422AC

Drain Cocks

Drain Cocks

Pipe Brass Part# Chrome Part #
1/4 326DC-4 7-326DC-4

Brake Bleeder Screws (Chrome)

3/8-24x11/2 |[45-9400
3/8-24x11/8 |[45-9402
5/16-24x 1 45-9403
1/4-28x 1 45-9404
m8 x 1.25x23.8 | 45-9405
m10 x 1.5x27.5 |45-9406

Grease Fittings

Erau

allllig8el

Size Part #
1/4-28 45 Degree Grease Fitting in Chrome 57546
1/4-28 Straight Grease Fitting in Chrome 57547
1/4-28 Straight Grease Fitting in Chrome (long) 57547-L
1/4-28 90 Degree Grease Fitting in Chrome 57548
1/8 45 Degree Grease Fitting in Chrome 57549
1/8 Straight Grease Fitting in Chrome 57550
1/8 90 Degree Grease Fitting in Chrome 57551
1/4-28 90 Degree Grease Fitting in Stainless 88546
1/4-28 Straight Grease Fitting in Stainless 88547
1/8 Straight Grease Fitting in Stainless 88610
1/8 90 Degree Grease Fitting in Stainless 88613
1/8 45 Degree Grease Fitting in Stainless 88688

(Also available in metric sizes)

2001© Copyright Gardner-Westcott Company

To place an order call us toll free at 1-800-521-9805

Or visit our website at www.gardner-westcott.com

Vacuum Connectors

Vacuum Hose Splicer

(Plastic)

1/8x1/8 62NU-2
3/16 x 3/16 | 62NU-3

1/4 x1/4 62NU-4
5/16 x 5/16 | 62NU-5
3/8x3/8 62NU-6
3/16x 1/8 62NUR-3X2
3/16 x 1/4 62NUR-3X4
1/4 x 1/8 62NUR-4X2
1/4 x 3/8 62NUR-4X6

Vacuum Caps

(Rubber)

1/8 64CAP-2
3/16 64CAP-3
1/4 64CAP-4
5/16 64CAPS
3/8 64CAP-6

Vacuum Hose Tee

(Plastic)

I.D. Hose Part #

1/8 64NT-2

3/32 64NT-2.5
1/8x316x1/8 | 6ANT-2X3X2
3/16 64NT-3
3/16x1/8x3/16 | 64NT-3X2X3
3/16x3/16x1/8 | 64NT-3X3X2
3/16x1/4x3/16 | 64NT-3X4X3
1/4 64NT-4
1/4x1/4x3/16 B64NT-4X4X3
5/16 64NT-5

3/8 64NT-6
3/8x3/8x1/4 64NT-6X6X4

Vacuum Hose Elbow

(Plastic)

Hose/Hose Part #

3/16 x 3/16

64NE-3

3/16x1/8

64NE-3X2

3/16 x 1/4

64NE-3X4

1/4x1/4

64NE-4

1



